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Cube and 

Cube and Cuboid
1. The areas of three adjacent faces of a cuboid

are 32 cm², 24cm² and 48cm². Find the

volume of cuboid.

,d ?kukHk ds rhu vklUu iQydksa dk {ks=kiQy 32 lseh2]
24 lseh2 vkSj 48 lseh2 gSA ?kukHk dk vk;ru Kkr
dhft,\

SSC CGL 4 June 2019 (Evening)

(a) 192 cm³ (b) 256 cm³

(c) 288 cm³ (d) 128 cm³

2. The areas of three adjacent faces of a
cuboidal tank are 3m2, 12 m2 and 16 m2.
The capacity of the tank in litres is :

?kukdkj VSad ds rhu vklÂ Hkqtkvksa ds {ks=kiQy 3 oxZ
eh] 12 oxZ eh vkSj 16 oxZ eh gSA VSad dh {kerk  gS
(yhVj esa)

CGL MAINS 15-10-2020

(a) 48000 (b) 24000

(c) 72000 (d) 36000

3. The sum of length, breadth and height of
a cuboid is 20 cm. If the length of the
diagonal is 12 cm, then find the total
surface area of the cuboid.

,d ?kukHk dh yackbZ] pkSM+kbZ vkSj ÅapkbZ dk ;ksx 20
lseh gSA ;n fod.kZ dh yackbZ 12 lseh gS] rks ?kukHk
dk dqy lrg {ks=kiQy Kkr djsaA

(CGL MAINS 18-10-2020)

(a) 264 cm2 (b) 364 cm2

(c) 356 cm2 (d) 256 cm2

4. A river is 3 m deep and 36 m wide flows at

the rate of 5km/h in to sea. The volume of

water that runs into the sea per minute is:

3 ehVj xgjh rFkk 36 ehVj pkSM+h unh leqnz esa 5
fdeh@izfr ?kaVk dh pky ls cgrh gSA izfr ehVj leqnz esa
tkus okys ikuh dk ifjek.k Kkr djsaA

SSC CPO 16 March 2019 (Afternoon)

MENSURATION (3D)

https://t.me/RankersGurukulLive
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(a) 8300 m³ (b) 9000 m³

(c) 7600 m³ (d) 6400 m³

5. The length, breadth and height of cuboidal

box are in the 7:5:3 and its whole surface a

rea is 27832 cm2 . Its volume is:

,d ?kukHkkdkj cDls dh yackbZ] pkSM+kbZ rFkk ÅapkbZ
7%5%3 ds vuqikr esa gS rFkk bldk iw.kZ i`"B {ks=kiQy
27832 oxZ lseh gSA bldk vk;ru gS%

SSC CGL 9 March 2020 (Morning)

(a) 280120 cm³ (b) 288120 cm³

(c) 208120 cm³ (d) 288100 cm³

6. The side of a cube is 15 cm. What is the

base area of a cuboid whose volume is 175

cm3 less than that of the cube and whose

height is 32 cm?

,d ?ku dh Hkqtk 15 lseh gSA ml ?kukHk ds vk/kj ij
{ks=kiQy Kkr djsa ftldk vk;ru ?ku ds vk;ru ls 175
?ku lseh de gS rFkk ftldh ÅapkbZ 32 lseh gSA

SSC MTS 2 August 2019 (Evening)

(a) 200 cm² (b) 100 cm²

(c) 160 cm² (d) 325 cm²

7. The length of a cuboid is double of its

breadth and its height is half of its breadth.

If the height of the cuboid is 2 cm, then

what will be the edge of a cube whose

volume is the same as that of the cuboid

mentioned above ?

fdlh ?kukHk dh yackbZ viuh pkSM+kbZ dh nksxquh gS rFkk
mldh ÅapkbZ] mldh pkSM+kbZ dh vk/h gSA ;fn ?kukHk dh
ÅapkbZ 2 lseh gS] rc fdlh ?k.k dk dksj (,t) fdruk
gksxk ftldk vk;ru mDr ?kukHk ds leku gS\

SSC MTS 5 August 2019 (Afternoon)

(a) 4 cm (b) 6.4 cm

(c) 8 cm (d) 7.2 cm
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8. Six cubes, each of edge 2 cm, are joined

end to end. What is the total surface area

of the resulting cuboid in cm2 ?

6 ?ku] ftudk izR;sd dk iQyd 2 lseh gS] lHkh dks
iQydksa ds vuq:i tksM+s tkrs gS] ifj.kkeh ?kukHk dk
{ks=kiQy Kkr dhft,\

SSC CGL 13 June 2019 (Morning

(a) 96 (b) 144

(c) 104 (d) 128

9. Five cubes, each of edge 3 cm are joined

end to end. What i s the total surface area

of the resulting cuboid, in cm2 ?

ikap ?ku] ftuesa izR;sd dk iQyd 3 lseh gS] iQydksa ds
vuq:i tksMs+ tkrs gSa] iQydksa ds vuq:i tksM+s tkrs gS] oxZ
lsaVhehVj esa ifj.kkeh ?kukHk dk dqy {ks=kiQy fdruk gS\

SSC CGL 13 June 2019 (Afternoon)

(a) 244 (b) 280

(c) 270 (d) 198

10. Four solid cubes, each of volume 1728 cm³,

are kept in two rows having two cubes in

each row. They form a rectangular solid with

square base. The total surface area (in cm²)

of the resulting solid is:

izR;sd 1728 lseh3 vk;ru okys pkj Bksl ?kuksa dks nks
iafDr;ksa esa j[kk tkrk gS vkSj izR;sd iafDr esa nks ?ku j[ks
tkrs gSaA muls oxkZdkj vk/kj okyk vk;rkdkj Bksl
curk gSA ifj.kkeh Bksl dk dqy i`"Bh; {ks=kiQy (lseh2

esa) Kkr djsaA
SSC MTS 18 /10/ 2021

(a) 576 (b) 1152

(c) 2304 (d) 1440

11. 64 small cubes of 1 cm3 are to be arranged

in a cuboidal shape in such a way that the

surface area will be minimum. What is the

length of diagonal of the larger cuboid ?

1 lseh3 vkdkj ds 64 ?kuksa dks bl çdkj O;ofLFkr
fd;k x;k fd mu ls cus cM+s ?ku dk lEiw.kZ i`"Bh;
{ks=kiQy de ls de gksA ml cM+s ?ku dk fod.kZ D;k
gksxk \

(a) 8 2  cm (b) 273  cm

(c) 4 3  cm (d) 4 cm

12. A cistern 6 m long and 4 m wide, contains

water up to a depth of 1m 25 cm. The total

area of the wet surface is

,d Vadh 6 eh yEch rFkk 4 eh pkSM+h gS ftlesa 1 eh
25 lseh xgjkbZ rd ikuh Hkjk gSA xhys Hkkx dk dqy
i`"Bh; {ks=kiQy gksxk&
(a) 55mm² (b) 53.5m²

(c) 50m² (d) 49m²

13. A tank is in the form of a cuboid with
length 12 m. If 18 kilolitre of water is
removed from it, the water level goes down
by 30 cm. What is the width (in m) of the
tank ?

,d Vadh ?kukHk ds vkdkj dh gS ftldh yackbZ 12 eh
gSA ;fn blls 18 fdyksyhVj ikuh fudky fn;k tk,]
rks ty Lrj 30 lseh uhps pyk tkrk gSA Vadh dh
pkSM+kbZ (ehVj esa) fdruh gS\

SSC CGL TIER II (13 September 2019)

(a) 4 (b) 5

(c) 5.5 (d) 4.5

14. How much iron sheet ( in m2 ) will be needed

to construct a rectangular tank measuring

10 m × 8 m × 6 m , if a circular opening of

radius one metre is to be left at the top of

the tank? (correct to one decimal place)

10 ehVj 8 ehVj 6 ehVj foekvksa okys vk;rkdkj VSad
ds fuekZ.k ds fy, yksgs dh fdruh 'khV (oxZ ehVj esa)
dh vko';drk gksxh] vxj ,d ehVj f=kT;k okyk òÙkkdkj
eq[k VSad ds 'kh"kZ ij NksM+k tkuk gS\

SSC CGL 4 June 2019 (Afternoon)

(a) 371.6 (b) 370.4

(c) 372.9 (d) 370.8

15. A tall rectangular vessel is half filled with

water. The base dimension of the vessel is

62 cm × 45 cm. A heavy metal cube of edge

15 cm is dropped into the vessel. The Rise

in level of the vessel is:

,d yack vk;rkdkj crZu ikuh ls vk/k Hkjk gqvk gSA bl
ik=k dh ewy yackbZ&pkSM+kbZ 62 lseh × 45 lseh gSA 15
lseh fdukjk okys ,d Hkkjh /kfRod ?ku dks crZu esa fxjk
fn;k tkrk gSA crZu ds tyLrj esa o`f¼ Kkr djsaA

SSC CPO 15 March 2019 (Morning)

(a) 1.21 cm (b) 1.15 cm

(c) 1.07 cm (d) 1 cm

16. A solid cube, in which the diagonal of each

face is 128 2  cm, has been molded to make

a cuboid. The length a nd b readth of this

cuboid are 512 cm and 160 cm respectively.

What is the height of this cuboid ?

https://t.me/mathsbyadityaranjan
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,d Bksl ?ku] ftldk izR;sd lrg (iQsl) fod.kZ 128 2

lseh gS] dks ?kukHk cukus ds fy, eksYM fd;k x;kA ?kukHk
dh yackbZ vkSj pkSM+kbZ Øe'k% 512 lseh vkSj 160 lseh gSA
?kukHk dh ÅapkbZ fdruh gS\

SSC MTS 14 August 2019 (Morning)

(a) 25.6 cm (b) 16 cm

(c) 20.8 cm (d) 16.4 cm

17. A solid metallic cuboid measuring 343 cm ×

49 cm × 7 cm is melted and converted into
cubes with side 7 cm. The s um of the total
surface areas (cm2) of all the cubes is :

343 lseh × 49 lseh × 7 lseh ds fdlh Bksl /kfRod
?kukHk dks fi?kykdj 7 lseh Hkqtk okys ?ku fufeZr fd,
tkrs gSA lHkh fufeZr ?k.kksa ds dqy i`"B {ks=kiQyksa (lseh2

esa) dk ;ksx gS%
SSC MTS 21 August 2019 (Afternoon)

(a) 16807 (b) 10842

(c) 120506 (d) 100842

18. A solid metallic cuboid of dimensions 18
cm × 36 cm × 72 cm is melted and recast
into 8 cubes of the same volume. What is
the ratio of the total surface area of the
cuboid to the sum of the lateral surface
area of all 8 cubes?

18 lseh × 36 lseh × 72 lseh foekvksa okys ,d Bksl
/krq ds ?kukHk dks fi?kykdj mlh vk;ru ds 8 ?kuksa esa
<kyk tkrk gSA ?kukHk ds dqy i`"Bh; {ks=kiQy dk lHkh
8 ?kuksa ds ik'oZ i`"Bh; {ks=kiQy ds ;ksx ls vuqikr
fdruk gS\

(CGL MAINS 16-10-2020)

(a) 2 : 3 (b) 7 : 8

(c) 4 : 7 (d) 7 : 12

19. A square of side 3 cm is cut off from each

corner of a rectangular sheet of length 24

cm and breadth 18 cm and the remaining

sheet is folded to form an open rectangular

box. The surface area of the box is

pkjksa dksuksa ls 3 lseh Hkqtk okyk oxZ ,d 24 lseh
yacs rFkk 18 lseh& pkSM+s vk;rkdkj 'khV ls dkV
fn;k x;k rFkk 'ks"k Hkkx dks eksM+dj ,d •qyk cDlk
cuk;k x;kA cDls dk i`"Bh; {ks=kiQy Kkr djsaA
(a) 468 cm² (b) 396 cm²

(c) 612 cm² (d) 423 cm²

20. A square piece of cardboard with side 1 2

cm h as a small square of 2 cm cut out from

each of the corners. The resulting flaps are

turned up to make a box 2 cm deep. The

volume of the box is:

12 lseh lrg okys ,d oxkZdkj xÙks ds VqdM+s ds izR;sd
dksus ls 2 lseh NksVs oxZ dkVs tkrs gSA 2 lseh xgjk fMCck
rS;kj djus ds fy, ifj.kkeksa ifV~V;k¡ (Resulting flaps)

dks eksM+k tkrk gSA fMCcs ds ?kuiQy dk eku D;k gS%

SSC CPO 15 March 2019 (Evening)

(a) 128 cm³ (b) 94 cm³

(c) 102 cm³ (d) 112 cm³

21. A tank is 225 m long, 162 m broad with what

velocity per second must water flow into it

through an aperture 60 cm by 45 cm that

the level may be raised by 20 cm in 5 h?

,d VSad 225 ehVj yack] 162 ehVj pkSM+k gS] ftlesa
ikuh çfr lsdaM fdl osx ls 60 lsaVhehVj xq.kk 45
lsaVhehVj ds fNæ ls cgsxk fd Lrj 5 ?kaVs esa 20 lsaVhehVj
c<+ tk,\
(a) 2.5 m/s (b) 0.25 m/s

(c) 1.5 m/s (d) 3.5 m/s

22. A rectangular field is 40 m long and 14 m

broad. In one corner of it, a pit 12 m long,  6

m wide and 5 m deep has been dug out and

the earth taken out of it has been evenly

spread over the remaining part of the field.

Find the rise in level of the field.

,d vk;rkdkj •sr 40 ehVj yEck o 14 ehVj pkSM+k
gSA blds ,d fdukjs ij 12 ehVj yEck] 6 ehVj
pkSM+k o 5 ehVj xgjk xM~<+k •ksnk x;k o mlls
fudyh feêðh dks iwjs •sr esa iQSyk fn;kA ml feêðh ds
dkj.k •sr dk Lrj fdruk Åij mBsxk \
(a) 73.77 cm (b) 72.12 cm

(c) 70 cm (d) 75 cm

23. A field is 119m × 18 m in dimension. A tank

17m × 6m × 3m is dug out in the middle

and the soil removed is evenly spread over

the remaining part of the field. The increase

in the level on the remaining part of the

field is:

,d eSnku dh yackbZ&pkSM+kbZ 119 eh × 18 eh gSA chp esa
17 eh × 6 eh × 3 eh vkdkj okyk ,d rkykc [kksnk
tkrk gS rFkk blls fudyh feV~Vh dks eSnku ds 'ks"k Hkkx
esa iQSyk fn;k tkrk gSA eSnku ds 'ks"k Hkkx ds Lrj esa gqbZ
o`f¼ Kkr djsaA

SSC CPO 16 March 2019 (Afternoon)

(a) 14 cm (b) 13 cm

(c) 15 cm (d) 12 cm
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24. The liquid in a container is sufficient to

paint an area of 11.28 m². How many boxes

of dimension 30 cm × 25 cm × 12 cm can

be painted with the liquid in this container.

,d crZu esa 11-28 eh2 {ks=kiQy dks jaxus ds fy, i;kZIr
rjy gSA foekvksa 30 lseh × 25 lseh × 12 lseh ds fdrus
cDls bl crZu ds rjy }kjk jaxs tk ldrs gSa\

SSC CPO 16 March 2019 (Morning)

(a) 40 (b) 24

(c) 32 (d) 12

25. A swimming pool is 40 m in length, 30 min

breadth and 2.2 m in depth. The cost of

cementing its floor and the four sides at

Rs. 25/ m2 is:

,d rj.krky dh yackbZ 40 eh] pkSM+kbZ 30 eh rFkk xgjkbZ
2-2 ehVj gSA 25 :i;s izfr oxZ ehVj dh nj ls blds ry
rFkk bldh pkjksa Hkqtkvksa ij lhesaV p<+kus dh ykxr Kkr
djsaA

SSC CPO 16 March 2019 (Afternoon)

(a) Rs. 43980 (b) Rs. 37540

(c) Rs. 34260 (d) Rs. 37700

26. A room is in the shape of a cuboid, with
dimensions 12m × 10m × 3m. What is the
cost of painting the four walls of the room
at the rate of Rs. 50 persq.m?

,d dejk ?kukHk ds vkdkj esa gS ftldh yackbZ] pkSM+kbZ
vkSj ÅapkbZ 12 eh × 10 eh × 3 eh gSA 50 :i;s izfr oxZ
ehVj dh nj ls bl dejs dh pkj nhokjksa dks jaxus dh
ykxr Kkr djsaA

SSC MTS 7 August 2019 (Evening)

(a) Rs. 15000 (b) Rs. 15600

(c) Rs. 6600 (d) Rs. 7500

27. The internal measures of a cuboidal room
are with length as 12m, breadth as 8m and
height as 10m. The total cost (in Rs.) of white
washing all f our walls of the room and also
the ceiling of the room, If the cost of  white
washing is Rs.25 per m2 is:

?kukdkj dejs ds vkarfjd eki dh yackbZ 12 ehVj]
pkSM+kbZ 8 ehVj vkSj ÅpkbZ 10 ehVj gSA dejs dh lHkh
pkj nhokjksa vkSj dejs dh Nr dks Hkh liQsn djus dh
dqy ykxr (: esa) D;k gksxh ;fn liQsnh dh ykxr izfr
eh2 : 25 gS%

CPO-2019 24-11-2020 (Evening shifts)

(a) 12400 (b) 1200

(c) 18000 (d) 13600

28. A wooden box measures 20 cm by 12 cm by
10 cm. Thickness of wood is 1 cm. Volume
of wood to make the box (in cubic cm) is

,d vk;rkdkj cDls dh foek,¡ Øe'k% 20 lseh × 12
lseh × 10 lseh gSA ydM+h dh eksVkbZ 1 lseh& gSA cDls
dks cukus esa yxh ydM+h dk vk;ru Kkr djsaA
(a) 960 (b) 519

(c) 2400 (d) 1120

29. A cistern of capacity 8000 litres measures
externally 3.3 m by 2.6 m by 1.1 m and its
walls are 5 cm thick. The thickness of the
bottom is :

,d 8000 fyVj /kfjrk dh Vadh cká :i ls 3-3 eh
× 2-6 eh × 1-1 eh gS rFkk bldh nhokjksa dh eksVkbZ
5 lseh& gSA mlds ry dh eksVkbZ Kkr djsaA
(a) 1m (b) 1.1m

(c) 1dm (d) 90cm

30. How much volume will the wood need to

make a closed box of 2.5cm thickness with

outer measurements 90 cm × 75 cm × 50

cm ?

ckgjh eki 90 lseh × 75 lseh × 50 lseh ds lkFk 2-5
lseh eksVkbZ ds ,d can ckWDl cukus ds fy, fdrus
vk;ru dh ydM+h dh vko';drk gksxh\

SSC CPO 14 March 2019 (Evening)

(a) 46720 cm³ (b) 69750 cm³

(c) 49050 cm³ (d) 36170 cm³

31. The length, breadth and height of a cuboid

is 15 cm, 12 cm and 11 cm respectively.

Length is reduced by 
2

6 %
3

 and breadth is

increased by 
1

8 %
3

 while the height remains

the same. What is the change in the total

area of four side faces of the cuboid?

(Considering the rectangle formed by the

length and breadth as base)

fdlh ?kukHk dh yackbZ] pkSM+kbZ vkSj ÅapkbZ Øe'k% 15

lseh] 12 lseh rFkk 11 lseh gSA yackbZ dks 
2

6 %
3

?kVk

fn;k tkrk gS vkSj pkSM+kbZ 
1

8 %
3

 dks c<+k fn;k tkrk gS

tcfd ÅapkbZ dks vifjofrZr j[kk tkrk gSA ?kukHk ds
(yackbZ vkSj pkSM+kbZ ls cus vk;r dks vk/kj ekurs gq,)
pkj ik'pZ&iQydksa ds dqy {ks=kiQy esa fruk ifjorZu gS\

SSC MTS 2 August 2019 (Afternoon)
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(a) 22 sq. cm decrease

(b) 22 sq. cm increase

(c) No change

(d) 33 sq. cm increase

32. The length and breadth of a cuboid are

increased by 10% and 20%, respectively,

and its height is decreased by 20%. The

percentage increase in the volume of the

cuboid is:

,d ?kukHk dh yackbZ vkSj pkSM+kbZ Øe'k% 10» vkSj 20»
c<+ tkrh gS] vkSj bldh ÅpkbZ 20» rd de gks tkrh gSA
?kUkkHk ds vk;ru esa izfr'kr o`f¼ gS%

CHSL 14-10-2020 (Morning shift)

(a)
4

5 %
5

(b)
1

5 %
5

(c)
2

5 %
5

(d)
3

5 %
5

33. How many soap cakes of size 8 cm × 4.5 cm

× 2 cm can be kept in a carton of size 11m

× 0.82 m ×0.63 m?

8 lseh × 4-5 lseh × 2 lseh vkdkj okyh lkcqu dh
fdruh fVfd;k dks 11 eh x 0-82 eh x 0-63 eh vkdkj
okys ,d fMCcs esa j[kk tk ldrk gS\

SSC CPO 15 March 2019 (Morning)

(a) 81052 (b) 75626

(c) 73498 (d) 78925

34. A cuboid of size 50 cm x 40 cm x 30 cm is
cut into 8 identical parts by 3 cuts. What is
the total surface area (in cm2) of all the 8
parts?

50 lsaeh × 40 lsaeh × 30 lsaeh vkdkj ds ,d ?kukHk
dks 3 dkV }kjk 8 leku Hkkxksa esa dkVk tkrk gSA lHkh
8 Hkkxksa ds laiw.kZ i`"B dk {ks=kiQy (oxZ lseh esa) D;k
gS\
(a) 11750 (b) 14100

(c) 18800 (d) 23500

35. A cuboidal block of 6 cm × 9 cm × 12 cm is

cut up into exact number of equal cubes.

The least possible number of cubes will be

,d 6 lseh × 9 lseh × 12 lseh foekvksa okyk ?kukHk
cjkcj :i ls dqN ?kuksa esa ck¡V fn;k tkrk gSA de ls
de fdrus ?ku cusaxsA
(a) 6 (b) 9

(c) 24 (d) 30

36. A solid cube has side 8 cm. It is cut along

diagonals of top face to get 4 equal parts.

What is the total surface area (in cm2) of

each part.

,d Bksl ?ku dh Hkqtk 8 lseh gSA bls 'kh"kZ iQyd ds
fod.kZ ds lekarj dkVdj 4 cjkcj Hkkx çkIr fd,
x, gSaA çR;sd Hkkx ds laiw.kZ i`"B dk {ks=kiQy (oxZ
lseh esa) D;k gS\

(a) 96+64 2 (b) 80+64 2

(c) 96+48 2 (d) 80+48 2

37. A solid cube of volume 13824 cm 3 is cut

into 8 cubes of equal volume. The ratio of

the surface area of the original cube to the

sum of the surface area of three of the

smaller cubes is :

13824 ?ku lseh vk;ru okys ,d Bksl ?ku dks cjkcj
vk;ru okys vkB ?kuksa esa dkVk tkrk gSA vkjafHkd ?ku ds
i`"B {ks=kiQy rFkk rhu NksVs ?kuksa ds i`"B {ks=kiQyksa ds ;ksx
dk vuqikr D;k gS\

SSC CGL 4 June 2019 (Morning)

(a) 2:3 (b) 4:3

(c) 8:3 (d) 2:1

38. A cuboid of edges 3cm, 4cm and 4cm is cut

to form cubes of edge 4cm each. What is

the sum of total surface areas of all cubes

formed?

32 lseh] 4 lseh rFkk 4 lseh fdukjksa okys ,d ?kukHk dks
4 lseh fdukjk okys ?kuksa dk fuekZ.k djus ds fy, dkVk
tkrk gSA bl izdkj cus lHkh ?kuksa ds dqy i`"B {ks=kiQy dk
;ksx D;k gksxk\

SSC CPO 13 March 2019 (Evening)

(a) 576 cm² (b) 768 cm²

(c) 640 cm² (d) 544 cm²

39. A cube of side 1 m length i s cut into small

cubes o f side 10 cm each. How many such

small cubes can be obtained?

1 eh yach Hkqtk okys fdlh ?ku dks 10 lseh Hkqtk okys
izR;sd NksVs&NksVs ?kuksa esa dkVk tkrk gSA ,sls fdrus NksVs
?ku izkIr fd, tk ldrs gSa\

SSC CPO 16 March 2019 (Evening)

(a) 1000 (b) 10000

(c) 10 (d) 100
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40. If a cuboid of dimensions 32 cm × 12cm ×

9cm is cut into two cubes of same size, what

w ill be the ratio of the surface area of the

cuboid to the total surface area of t he two

cubes ?

;fn 32 lseh × 12 lseh × 9 lseh foekvksa okys ,d
?kukHk dks cjkcj vkdkj ds nks ?kuksa esa dkVk tk,] rks
?kukHk ds i`"B {ks=kiQy vkSj nksuksa ?kuksa ds dqy i`"B
{ks=kiQy esa D;k vuqikr gksxk\

SSC CGL TIER II (11 September 2019)

(a) 65:72 (b) 37:48

(c) 24:35 (d) 32:39

41. A cuboid of size 100 cm × 80 cm × 60 cm

cut into eight identical parts by three cuts.

Where is the total surface area (in square

cm.) of all the eight parts?

100 lseh × 80 lseh × 60 lseh vkdkj okys ,d ?kukHk
dks rhu ckj dkV dj vkB le:i fgLlksa esa dkVk tkrk
gSA lHkh vkB fgLlksa dk dqy i`"Bh; {ks=kiQy (oxZ lseh
esa) fdruk gksxk\

SSC MTS 9 August  2019 (Morning)

(a) 22500 (b) 84100

(c) 50750 (d) 75200

42. A solid cube is cut into three cuboids of
same volumes. What is the ratio of the
surface area of the cube to the sum of the
surface areas of any two of the cuboids so
formed ?

,d Bksl ?ku dks leku vk;ru okys rhu ?kukHkksa esa
dkVk tkrk gSA ?ku ds i`"B {ks=kiQy rFkk fdlh Hkh nks
?kukHk ds i`"B {ks=kiQyksa ds tksM+ ds chp vuqikr Kkr
djsaA

SSC CGL TIER II (12 September 2019)

(a) 9 : 10 (b) 27 : 16

(c) 27 : 10 (d) 9 : 8

43. A wooden piece in the shape of a cuboid is

divided into five equal parts by cutting it

with four cuts perpendicular to its length,

and it turns out that each piece is a cube of

volume 27 cm3. What is the total surface

area (in cm2) of the cuboid?

?kukHk ds vkdkj okys ydM+h ds ,d VqdM+s dks mldh
yackbZ ls yac:i pkj ckj dkVdj ik¡p cjkcj Hkkxksa esa
ckVk x;k vkSj bl izdkj cus izR;sd ?ku VqdM+sa dk
vk;ru 27 lseh3 gks x;kA ?kukHk dk dqy i`"Bh {ks=kiQy
(lseh2 esa) Kkr djsaA

SSC MTS 12 /10/ 2021

(a) 174 (b) 150

(c) 216 (d) 198

Cylinder

44. The curved surface area and volume of a

cylinder are 264 square cm and 924 cubic

cm, respectively. What is the ratio of its

radius to height? 
22

=
7

 
  

,d csyu dk i`"Bh; {ks=kiQy vkSj vk;ru Øe'k% 264

oxZ lseh vkSj 924 ?ku lseh gSA bldh f=kT;k vkSj ÅapkbZ

dk vuqikr D;k gS\

SSC CGL 10 June 2019 (Morning)

(a) 4:3 (b) 5:4

(c) 7:6 (d) 3:2

45. The curved surface area of a cylinder is

25344 cm² and its height is 32 cm. Find

the volume of cylinder whose capacity is

792


times the capacity of the cylinder

given.

fdlh csyu (flfyaMj) dk oØ i`"B {ks=kiQy 25344
lseh2 gS rFkk mldh ÅapkbZ 32 lseh gSA ml csyu (flfyaMj)
dk vk;ru fdruk gS ftldh /kfjrk fn, x, csyu

(flfyaMj) ds vk;ru dh 
792


xquh gS\

SSC MTS 6 August 2019 (Mroning)

(a) 3168 cm³ (b) 6336 cm³

(c) 1584 cm³ (d) 9504 cm³

46. The total surface area of a solid cylinder is
1155 cm². Its curved surface area is equal to
two-fifths of its total surface area. What is

the height of the cylinder ? 
22

=
7

 
  

,d Bksl csyu (flfyaMj) dk dqy i`"B {ks=kiQy 1155
lseh2 gSA mldk oØ i`"B {ks=kiQy mlds dqy i`"B {ks=kiQy

ds 
2

5
ds cjkcj gSA csyu (flfyaMj) dh ÅapkbZ (lseh

esa) fdruh gS\

SSC MTS 20 August 2019 (Afternoon)

(a) 7 (b) 5

(c) 6 (d) 10.5
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47. The lateral surface area of a cylinder is 352

cm2. If its height  is 7 cm, then its volume

(in cm3) is : (Take  = 22/7 )

,d csyu dk ik'oZ i`"B {ks=kiQy 352 oxZ lseh gSA
;fn bldh ÅapkbZ 7 lseh gS] rks bldk vk;ru (?ku
lseh esa) Kkr djsaA ( = 22@7)

SSC CGL TIER II (11 September 2019)

(a) 1408 (b) 1078

(c) 1243 (d) 891

48. The radius of the base of a right circular

cylinder is 3 cm and its curved surface area

is 60 cm2. The volume of the cylinder (in

cm3) is :

,d yEc o`Ùkh; csyu ds vk/kj dh f=kT;k 3 lseh gS
rFkk bldk oØ ì"B {ks=kiQy 60 oxZ lseh gA bl csyu
dk vk;ru gksxk %

SSC CGL TIER II (13 September 2019)

(a) 90  (b) 72 

(c) 60  (d) 81 

49. The curved surface area of a right cylinder

is 3696 cm2, Its height is three times its

radius. What is the capacity (in liters) of

the cylinder ?(Take p = 22/7)

,d flysaMj dk ?kqekonkj lrg dk {ks=kiQy 3696 oxZ
lseh gS] bldh Å¡pkbZ] f=kT;k ls rhu xquk gSA flysaMj
dh {kerk (yhVj esa) D;k gS\ (ekfu;s p = 22@7)
(a) 25.872 (b) 30.87

(c) 19.008 (d) 29.75

50. Two similar cylindrical jugs have heights 5

cm and 8 cm, respectively. If the capacity

of the smaller jug is 64 cm3, what is the

capacity (correct to 2 decimal places, in

cm3) of the larger jug?

nks leku csyukdkj txksa dh Å¡pkbZ Øe'k% 5 lseh vkSj 8
lseh gSA ;fn NksVs tx dh {kerk 64 lseh3 gS] rks cM+s tx
dh {kerk (2 n'keyo LFkkuksa rd] lseh3 esa) D;k gS\

SSC MTS 18 /10/ 2021

(a) 163.84 (b) 262.14

(c) 294.54 (d) 102.40

51. The ratio between the volume (in cm3) and

curved surface area (in cm2) of a cylinder is

numerically 14 : 1. If the height of the

cylinder is 50 cm, then find its volume.

22
=

7

 
  

fdlh csyu (flfyaMj) ds vk;ru (lseh3 esa) rFkk oØ
i`"B {ks=kiQy (lseh2 esa) ds chp vuqikr la[;kRed :i
ls 14%1 gSA ;fn csyu (flfyaMj) dh ÅapkbZ 50 lseh gS]
rks csyu dk vk;ru fdruk gS\

SSC MTS 16 August 2019 (Afternoon)

(a) 61600 cm³ (b) 92400 cm³

(c) 123200 cm³ (d) 184800 cm³

52. The diameter of a right circular cylinder is

decreased to one third of its initial value. If

the volume of the cylinder remains the

same, then the height becomes how many

times of the initial height ?

,d yEc o`Ùkh; csyu ds O;kl dks blds vkjafHkd eku
ls ,d frgkbZ de dj fn;k tkrk gSA ;fn csyu dk
vk;ru leku cuk jgrk gS] rks bldh ÅapkbZ vius
vkjafHkd eku ls fdruh xquk gks tk,xh\

SSC MTS 5 August 2019 (Morning)

(a) 1 (b) 9

(c) 6 (d) 3

53. If the base radius of 2 cylinders are in the

ratio 3:4 and their heights are in the ratio

of 4:9, then the ratio of their volumes is:

;fn nks csyuksa ds vk/kj dh f=kT;k dk vuqikr 3%4 gS
rFkk mudh ÅapkbZ dk vuqikr 4%9 gS] rks muds vk;ru
dk vuqikr D;k gksxk\

SSC CGL 3 March 2020 (Morning)

(a) 2:1 (b) 1:4

(c) 1:2 (d) 4:1

54. The ratio of the volumes of two cylinders
is x:y and the ratio of their diameters is
a:b. What is the ratio of their heights?

nks csyuksa ds vk;ru dk vuqikr x % y gS vkSj muds
?kl dk vuqikr a : b gSA mudh ÅapkbZ dk vuqikr
Kkr djsaA

SSC CGL TIER II (11 September 2019)

(a) xb : ya (b) xa : yb

(c) xb2 : ya2 (d) xa2 : yb2

55. If the curved surface area of a solid

cylinder is one-third of its total surface

area, then what is the ratio of its diameter

to its height ?

;fn fdlh Bksl csyu dk oØ i`"B {ks=kiQy blds dqy
i`"B {ks=kiQy dk ,d&frgkbZ gS] rks blds O;kl vkSj
bldh Å¡pkbZ esa vuqikr Kkr djsaA

SSC CGL TIER II (12 September 2019)
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(a) 5 : 2 (b) 1 : 1

(c) 2 : 1 (d) 4 : 1

56. The radii of two right circular cylinders are
in the ratio 3 : 2 and the ratio of their
volumes is 27:16. What is the ratio of their
heights?

nks xksykdkj flys.Mjksa dh f=kT;k 3 % 2 ds vuqikr esa
gS vkSj muds vk;ru dk vuqikr 27%16 gSA mudh yackbZ
dk vuqikr D;k gS\

(CGL MAINS 15-10-2020)

(a) 3 : 4 (b) 8 : 9

(c) 4 : 3 (d) 9 : 8

57. The curved surface area of a cylinder is five
times the area of a base. Find the ratio of
radius and height of the cylinder.

,d flysaMj dk ?kqekonkj lrg dk {ks=kiQy mlds vkèkkj
ds {ks=kiQy dk ik¡p xquk gSA flysaMj ds f=kT;k vkSj
Å¡pkbZ ds vuqikr dk irk yxk,¡A

(CGL MAINS 18-10-2020)

(a) 2 : 5 (b) 2 : 3

(c) 3 : 4 (d) 3 : 5

58. The radii of two cylinders are in the ratio
3:4 and their heights are in the ratio 8:5.
The ratio of their volumes is :

nks flysaMjksa dh f=kT;k 3 % 4 ds vuqikr esa gS vkSj
mudh Å¡ pkbZ 8 % 5 ds vuqikr esa gSA muds vk;ru
dk vuqikr gS%

(CGL MAINS 18-10-2020)

(a) 8 : 9 (b) 9 : 10

(c) 7 : 10 (d) 9 : 11

59. The ratio of curved surface area and volume
of a cylinder is 1 : 7. The ratio of total
surface area and volume is 187 : 770. What
is the respective ratio of its base radius and
height?

,d csyu ds oØ ì"Bh; {ks=kiQy vkSj vk;ru dk vuqikr
1 % 7 gSA dqy i`"Bh; {ks=kiQy vkSj vk;ru dk vuqikr
187% 770 gSA blds vk/kj dh f=kT;k vkSj ÅapkbZ dk
lacaf/r vuqikr D;k gS\
(a) 5 : 8 (b) 4 : 9

(c) 3 : 7 (d) 7 : 10

60. What will be total cost of polishing curved
surface of a wooden cylinder at rate of Rs

20 per m2 , if its diameter is 40 cm and

height is 7m?

ydM+h dh csyu dh oØ lrg dks 20 :i;s izfroxZ
ehVj dh nj ls ikWfy'k djus dh dqy ykxr D;k gksxh]
;fn bldk O;kl 40 lseh rFkk ÅapkbZ 7 ehVj gSA

SSC CPO 16 March 2019 (Evening)

(a) 176 rs (b) 184 rs

(c) 175 rs (d) 186 rs

61. The radius of a solid right circular cylinder

is 21 cm and its height is 40 cm. What is

the cost of painting the curved surface area

of the cylinder at the rate of Rs. 20 per

sq.cm? 
22

=
7

 
  

,d Bksl yac o`Ùkh; csyu dh f=kT;k 21 lseh gS rFkk
bldh ÅapkbZ 40 lseh gSA 20 :i;s izfr oxZ ehVj dh nj
ls bl csyu ds oØ i`"B {ks=k dks jaxus dh ykxr Kkr djsaA

SSC MTS 7 August 2019 (Evening)

(a) Rs. 108600 (b) Rs. 105600

(c) Rs. 26400 (d) Rs. 5280

62. A cylindrical vessel of radius 3.5 m is full

of water. If 15400 litres of water is taken

out from it, then the drop in the water

level in the vessel will be

3-5 eh f=kT;k okyk ,d csyukdkj crZu ikuh ls Hkjk
gqvk gSA ;fn blls 15400 yhVj ikuh fudky fy;k
tk,] rks bl crZu ds ty Lrj esa fdruh fxjkoV vk,xh\

SSC CGL TIER II (12 September 2019)

(a) 72 cm (b) 40 cm

(c) 35 cm (d) 60 cm

63. The circumference of the base of a

cylindrical vessel is 158.4 cm and its

height is 1 m . How many liters of water

can it hold (correct to one decimal place)?

(Taken p = 22/7)

,d csyukdkj irhys ds vk/kj dh ifjf/ 158-4 lseh
gS vkSj bldh ÅapkbZ 1 eh gSA blds fdrus yhVj ikuh
dh {kerk gS\ (,d n'keyo LFkku rd) (p = 22/7)

(CGL MAINS 16-10-2020)

(a) 199.6 (b) 198.2

(c) 200.8 (d) 186.4

64. The volume of a metallic cylindrical pipe is

7480 cm3 . If its length is 1.4 a nd its

external radius is 9 cm, then its thickness?

22
=

7

 
  

,d /krq ds csyukdkj ikbi dk vk;ru 7480 ?ku
lsaVhehVj gSA ;fn bldh yackbZ 1-4 ehVj gS vkSj bldh
ckgjh f=kT;k 9 lsaVhehVj gS] rks bldh eksVkbZ Kkr dhft,\

SSC CGL 6 June 2019 (Morning)

(a) 1 cm (b) 0.8 cm

(c) 0.9 cm (d) 1.2 cm
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65. The length of the metallic pipe is 7.56 m.

Its external and internal radii are 2.5 cm

and 1.5 cm respectively. If 1 cubic cm of

the metal weigh 7.5 g, then the weight of

the pipe is : 
22

=
7

 
  

/krq ds ikbi dh yackbZ 7-56 ehVj gSA bldh ckgjh vkSj
vkarfjd f=kT;k Øe'k% 2-5 lseh vkSj 1-5 lseh gSA ;fn
/krq ds 1 ?ku lseh dk otu 7-5 xzke gS] rks ikbi dk
Hkkj Kkr dhft,\

SSC CGL 6 June 2019 (Afternoon)

(a) 72.82 kg (b) 70.14 kg

(c) 71.28 kg (d) 69.68 kg

66. A hollow cylinder is made up of metal. The

difference between outer and inner curved

surface area of the cylinder is 352 cm2.

Height of the cylinder is 28 cm. If the total

surface area of this hollow cylinder is 2640

cm2, then what are the inner and outer

radius (in cm)?

,d •ks•yk csyu /krq dk cuk gSA csyu ds ckgjh vkSj
Hkhr j h oØ i "̀Bh;  {ks=ki Qy  d s chp  d k v ar j  352 l seh2

gSA csyu dh ÅapkbZ 28 lseh gSA ;fn bl •ks•ys csyu dk
dqy i`"Bh; {ks=kiQy 2640 lseh2 gS] rks vkarfjd vkSj
ckgjh f=kT;k (lseh esa) D;k gSa\
(a) 4, 6 (b) 10, 12

(c) 8, 10 (d) 6, 8

67. A hollow iron pipe is 21cm long and its

exterior diameter is 8 cm. If the thickness

of the pipe is 1 cm and iron weights 8 g/

cm3, then the weight of the pipe (Take  =

22/7) is

,d •ks•yk yksgs dk ikbi 21 lseh yack gS vkSj bldk
ckgjh O;kl 8 lseh gSA ;fn ikbi dh eksVkbZ 1 lseh gS
vkSj yksgs dk otu 8 xzke@lseh 3 gS] rks ikbi dk otu
( ¾ 22@7 ysa) gS
(a) 3.696 kg (b) 3.6 kg

(c) 36 kg (d) 36.9 kg

68. The length and breadth of a rectangle are

15 cm and 12 cm respectively. If the

rectangle is given one full rotation about its

breadth as the axis, what is the volume (in

cm3) through which the rectangle moves?

,d vk;r dh yackbZ vkSj pkSM+kbZ Øe'k% 15 lseh vkSj
12 lseh gSA ;fn vk;r dh pkSM+kbZ dks /qjh ekudj bls
,d ckj iwjk ?kqek;k tkrk gS] rks mldk vk;ru (?ku lseh
esa) Kkr djsa ftlls gksdj vk;r ?kwerk gS\

SSC MTS 8 August 2019 (Afternoon)

(a) 2160  (b) 1440 

(c) 1800  (d) 2700 

69. A rectangular paper of width 7 cm is rolled
along its width and a cylinder of radius 9 cm
is formed. The volume of the cylinder is:

7 lseh pkSM+kbZ okys ,d vk;rkdkj dkxt dks bldh
pkSM+kbZ ls yisVk tkrk gS vkSj 9 lseh f=kT;k okys csyu
dk fuekZ.k fd;k tkrk gSA bl csyu dk vk;ru gSA

SSC MTS 14 August 2019 (Evening)

(a) 1525 cm³ (b) 900 cm³

(c) 1750 cm³ (d) 1782 cm³

70. The radius of a cylinder is reduced to 50%
of its actual radius. If its volume remains
the same as before, then its height becomes
k times the original height. The value of k
is:

fdlh csyu dh f=kT;k esa mldh okLrfod f=kT;k ls 50»
dh deh tkrh gSA ;fn bldk vk;ru igys dh rjg
leku jgrk gS] rks bldh ÅapkbZ ewy Å¡pkbZ ls k xquk gks
tkrh gSA k dk eku Kkr djsaA

SSC MTS 14 /10/ 2021

(a) 2 (b) 16

(c) 8 (d) 4

71. The radius of a cylinder is increased by
120% and its height is decreased by 40%.
What is the percentage increase in is
volume?

,d csyu dh f=kT;k 120» c<+k nh tkrh gS rFkk bldh
ÅapkbZ 40» de dj nh tkrh gSA blds vk;ru esa fdrus
izfr'kr dh o`f¼ gksxh \

SSC CPO 12 March 2019 (Evening)

(a) 180.6% (b) 212.8%

(c) 190.4% (d) 175.4%

72. If the radius of a right circular cylinder is
decreased by 20% while its height is
increased by 40%, then the percentage
change in its volume will be :

f;fn dlh yEc o`Ùkh; csyu dh f=kT;k 20» de dj
nh tk, vkSj bldh ÅapkbZ 40» c<+k nh tk,] rks blds
vk;ru esa vkus okyk çfrr'kr ifjorZu gksxk %

SSC CGL TIER II (11 September 2019)

(a) 1.04% increase (b) 10.4% decrease

(c) No increase (d) 10.4% increase

73. If the diameter of the base of a right
circular cylinder is reduced by 33 % and

its height 
1

33 %
3

 is doubled, then the

volume of the cylinder will :

f;n fdlh yEc o`Ùkh; csyu ds  vk/kj dk O;kl

1
33 %

3
 de dj fn;k tk, vkSj bldh ÅapkbZ nksxquh

dj nh tk,] rks bl csyu dk vk;ru %
SSC CGL TIER II (12 September 2019)

https://t.me/mathsbyadityaranjan


M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

(a) increase by 
1

1 %
9

(b) remain unchanged

(c) increased by 
1

11 %
9

(d) decrease by 
1

11 %
9

74. The radius of the base of a right circular
cylinder is increased by 20%. By what per
cent should its height be reduced so that
its volume remains the same as before ?

,d yEc o`Ùkh; csyu ds vk/kj dh f=kT;k 20» c<+k
nh tkrh gSA bldh ÅapkbZ dks fdrus izfr'kr ls de
fd;k tkuk pkfg, rkfd bldk vk;ru igys ftruk
gh cuk jgs\

SSC CGL TIER II (13 September 2019)

(a) 25 (b) 30
2

9

(c) 30
5

9
(d) 28

75. If the radius of the base of a right circular

cylinder is increased by 20% and the

height is decreased by 30% then what is

the percentage increase/decrease in the

volume ?

;fn flysaMj ds vk/kj dh f=kT;k 20» c<+ tkrh gS
vkSj yackbZ 30» rd de gks tkrh gS rks vk;ru esa
çfr'kr o`f¼@deh D;k gS\

(CGL MAINS 15-10-2020)

(a) Increase 2% (b) Decrease 0.8%

(c) Increase 0.8% (d) Decrease 2%

76. If the radius of a cylinder is decreased by

20% and the height is increased by 20%

to form a new cylinder then the volume

will be decreased by:

;fn fdlh flysaMj dh f=kT;k 20» rd de gks tkrh
gS vkSj mldh Å¡pkbZ 20» rd c<+ tkrh gS rks u,
flysaMj dh vk;ru esa fdruh deh gksxh\

(CGL MAINS 18-10-2020)

(a) 23.2% (b) 32.2%

(c) 22.3% (d) 20.5%

77. A field roller, in the shape of a cylinder,

has a diameter of 1 m and length of 
1

1
4

m. If the speed at which the roller rolls is

14 revolutions per minute, then the

maximum are (in ) that it m2 can roll in 1

hour is : (Take  = 22/7)

,d eSnkuh jksyj] tks cysu ds vkdkj dk gS] mldk

O;kl 1 eh vkSj yackbZ 
1

1
4
 eh gSA ;fn bl jksyj ds

?kweus dh pky 14 pDdj izfr feuV gS] rks 1 ?kaVs esa
;g vf/dre fdrus {ks=kiQy (oxZ eh esa) ij ?kwe ldrk
gS\ ( = 22/7)

SSC CGL TIER II (12 September 2019)

(a) 3960 (b) 3600

(c) 3300 (d) 3560

78. A cylindrical roller made up of iron is 1.2 m
long. Its internal radius is 24cm and
thickness of the iron sheet used in making
the roller is15 cm. What is the (in kg ) of
the roller, if 1 cm3 of the iron has 8 g
mass?

yksgs ls cuk ,d csyukdkj jksyj 1-2 ehVj yack gSA
bldh vkarfjd f=kT;k 24 lseh gS vkSj jksyj cukus esa
mi;ksx dh tkus okyh yksgs dh 'khV dh eksVkbZ 15
lseh gSA jksyj dk otu (fdyks esa) D;k gS] ;fn 1
?ku lseh yksgs dk nzO;eku 8 xzke gS\

(CGL MAINS 16-10-2020)

(a) 892.8 p (b) 907.2 p
(c) 846.72 p (d) 845.75 p

79. A ribbon of equal width and length l is

wrapped around the curved surface of a right

circular cylinder to cover it completely. If

the base circumference of this cylinder is c,

then how many times the ribbon was

wrapped around the cylinder ?

,d leku pkSM+kbZ okys fdlh fjcu] ftldh yackbZ 1 gS]
dks ,d yac o`Ùkh; csyu (flysaMj) ds oØ i`"B (doMZ
ljiQsl) ij iw.kZ :i ls doj djus ds fy, yisVk tkrk
gSA ;fn csyu (flysaMj) ds vk/kj dh ifjf/ c gS] rks
csyu (flysaMj) ij fjcu ls fdruh ckj yisVk x;k%

SSC MTS 5 August 2019 (Evening)

(a)
4c

l
(b)

c

l

(c)
2c

l
(d)

2

c

l

80. A cylinder of radius 4.5 cm and height 12

cm just fits in another cylinder completely

with their axis perpendicular. What is the

radius (in cm) of second cylinder?

f=kT;k 4-5 lseh vkSj ÅapkbZ 12 lseh dk ,d flysaMj iwjh
rjg ls vius v{k ds yacor ds lkFk nwljs flysaMj esa
fiQV cSBrk gSA nwljs csyu dh f=kT;k (ls-eh- esa) D;k gS\
(a) 5 (b) 6

(c) 15 (d) 7.5

https://t.me/mathsbyadityaranjan


M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

81. A right circular cylinder has height as 18

cm and radius as 7 cm. The cylinder is cut

in three equal parts (by 2 cuts parallel to

base). What is the percentage increase in

total surface area?

,d yEc o`Ùkh; csyu dh Å¡pkbZ 18 lseh vkSj f=kT;k 7
lseh gSA csyu dks rhu cjkcj Hkkxksa esa dkVk tkrk gS
(vk/kj ds lekukarj 2 dVksa ls)A dqy lrg {ks=k esa
çfr'kr o`f¼ D;k gS\
(a) 62 (b) 56

(c) 48 (d) 52

82. A solid cylinder has radius of base 14 cm

and height 15 cm. 4 identical cylinders are

cut from each base as shown in the given

figure. The height of the small cylinder is 5

cm. what is the total surface area (in cm²)

of the remaining part?

,d Bksl csyu ds vk/kj dh f=kT;k 14 lseh vkSj ÅapkbZ 15
lseh gSA tSlk fd fp=k esa fn•k;k x;k gS] çR;sd vk/kj ls
4 leku csyu dkVs x, gSaA NksVs csyu dh ÅapkbZ 5 lseh gSA
'ks"k Hkkx dk dqy ì"Bh; {ks=kiQy (lseh2 esa) fdruk gS\

(a) 3740 (b) 3432

(c) 3124 (d) 2816

Cone
83. The height of a right circular cone is 5 cm

and its base  radius is 12 cm. What is the

curved surface area of the cone?

,d yEc o`Ùkh; 'kadq dh ÅapkbZ 5 lseh gS rFkk blds
vk/kj dh f=kT;k 12 lseh gSA bl 'kadq dk oØ i`"B
{ks=kiQy Kkr djsaA

SSC MTS 2 August 2019 (Evening)

(a) 132  cm² (b) 143  cm²

(c) 156  cm² (d) 168  cm²

84. The height of a right circular cone is 24 cm
and the radius of its base is 7 cm. What is
the cost of painting the curved surface area
of the cone at the rate of Rs. 6 per cm² ?

22
=

7

 
  

,d yac òÙkh; 'kadq dh ÅapkbZ 24 lseh gS rFkk blds vk/
kj dh f=kT;k 7 lseh gSA 6 :i;s izfr oxZ lseh dh nj ls 'kadq
ds oØ ì"B {ks=kiQy dks jaxus dh ykxr fdruh vk,xh\

SSC MTS 7 August 2019 (Morning)

(a) Rs. 3600 (b) Rs. 3300

(c) Rs. 880 (d) Rs. 4200

85. The height of a cone is equal to its base

radius and its volume is 72   cm³ . What is

its curved surface area in cm³ ?

,d 'kadq dh ÅapkbZ blds vk/kj dh f=kT;k ds cjkcj gS
rFkk bldk vk;ru 72  ?ku lseh gSA bldk oØ i`"B
{ks=kiQy (?ku lseh esa) Kkr djsaA

SSC MTS 22 August 2019 (Afternoon)

(a) 72 2 (b) 36 2

(c) 48 2 (d) 54 2

86. The circumference of the base of a conical
tent is 66 m. If the height of the tent is 36
m, what is the area (in m²) of the canvas

used in making the tent? 
22

=
7

 
  

,d 'kadkdkj racw ds vk/kj dh ifjf/ 66 ehVj gSA ;fn
racw dh ÅapkbZ 36 ehVj gS] rks ml frjiky dk {ks=kiQy
Kkr djsa] ftldk iz;ksx racw ds fuekZ.k esa fd;k x;k gSA

SSC CGL 4 March 2020 (Morning)

(a) 1155 (b) 1237.5

(c) 1171.5 (d) 1254

87.  If the diameter of the base of a cone is 42
cm and its curved surface area is 2310,
then cm2  what will be its volume (in ) cm3?

;fn fdlh 'kadq ds vk/kj dk O;kl 42 lseh gS vkSj
bldk oØ i`"B {ks=kiQy 2310 oxZ lseh gS] rks bldk
vk;ru (?ku lseh esa) D;k gksxk\

SSC CGL TIER II (11 September 2019)

(a) 25872 (b) 19404

(c) 12936 (d) 38808

88. The area of the base of a right circular cone
is 400 and its height is 15 cm. The curved
surface area of the cone (in cm2) is :

,d yEc o`Ùkh; 'kadq ds vk/kj dk {ks=kiQy 400 gS
vkSj bldh Å¡pkbZ 15 lseh gSA bl 'kadq dk oØ i`"B
{ks=kiQy (oxZ lseh esa) gS %
(a) 480  (b) 500 

(c) 450  (d) 560 

89. The area of the base of a right circular cone is
81p cm2 and its height is 12 cm. What is the
curved surface area ( in cm2) of the cone ?

,d xksykdkj 'kadq ds vk/kj dk {ks=kiQy 81 oxZ lseh
gS vkSj bldh ÅapkbZ 12 lseh gSA 'kadq dk ?kqekonkj
lrg dk {ks=kiQy (oxZ lseh esa) D;k gS\

(CGL MAINS 15-10-2020)
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(a) 108 p (b) 135 p
(c) 126 p (d) 144 p

90. The circumference of the base of a right

circular cone is 44 cm and its height is 24

cm. The curved surface area ( in cm2) of

the cone is :

,d yac o`Ùkh; 'kadq ds vk/kj dh ifjf/ 44 lseh gS
vkSj bldh ÅapkbZ 24 lseh gSA 'kadq dk oØ i`"Bh;
{ks=kiQy (lseh2 esa) gS %

(CGL MAINS 16-10-2020)

(a) 572 (b) 550

(c) 528 (d) 440

91. The radius and height of a right circular

cone are in ratio 3 : 4. If its curved surface

area (in cm2) is 240p , then its volume (in

cm3) is:

,d xksykdkj 'kadq dh f=kT;k vkSj ÅapkbZ dk vuqikr
3 % 4 esa gSA ;fn bldh oØ lrg dk {ks=kiQy (oxZ lseh
esa) 240p gS] rks bldh vk;ru (?ku lseh esa)  gS %

(CGL MAINS 15-10-2020)

(a) 768 p (b) 384 p
(c) 2304 p (d) 1536 p

92. The radius and the height of a cone are in

the ratio 4 : 3. The ratio of the curved

surface area and total surface area of the

cone is:

,d 'kadq dh f=kT;k vkSj Å¡pkbZ Øe'k% 4 % 3 gS mlds
oØ i`"B {ks=kiQy rFkk dqy i`"B {ks=kiQy dk vuqikr
Kkr djsaA
(a) 5 : 9 (b) 3 : 7

(c) 5 : 4 (d) 16 : 9

93. If the radius of the base of a cone is

doubled, and the volume of the new cone

is three times the volume of the original

cone, then what will be the ratio of the

height of the original cone to that of the

new cone ?

;fn fdlh 'kadq ds vk/kj dh f=kT;k nksxquh dj nh
x;h gS vkSj u, 'kadq dk vk;ru vkjafHkd 'kadq ds
vk;ru dk frxquk gS] rks vkjafHkd 'kadq vkSj u, 'kadq
dh Å¡pkb;ksa ds chp D;k vuqikr gksxk\

SSC CGL TIER II (11 September 2019)

(a) 1 : 3 (b) 4 : 3

(c) 2 : 9 (d) 9 : 4

94. The radius and the height of a right

circular cone are in the ratio 5:12. Its

curved surface area is 816.4 cm2. What is

the volume  ( in cm3) of the cone ? (Take

=  3.14)

,d yEc oÙ̀kh; 'kadq dh f=kT;k rFkk ÅapkbZ 5 % 12 ds
vuqikr esa gSA bldk oØ i`"B {ks=kiQy 816-4 oxZ lseh
gSA bl 'kadq dk vk;ru (?ku lseh esa) Kkr djsaA
( = 3-14)

SSC CGL TIER II (13 September 2019)
(a) 2512 (b) 1256
(c) 3140 (d) 628

95. The ratio of the radii of two cones is 5 : 6
and their volume is in the ratio 8 : 9. The
ratio of their height is :

nks 'kadq dh f=kT;k dk vuqikr 5 % 6 gS vkSj mudh vk;ru
8 % 9 ds vuqikr esa gSA mudh ÅapkbZ dk vuqikr D;k gksxk\

(CGL MAINS 16-10-2020)
(a) 25 : 27 (b) 27 : 20
(c) 20 : 27 (d) 32 : 25

96. The ratio of the height and the diameter
of a right circular cone is 6:5 and its

volume is 
2200

7
cm2 .What is its slant

height ? (Take p = 22/7)

,d xksykdkj 'kadq dk ÅapkbZ vkSj O;kl dk vuqikr

6 % 5 gS vkSj bldh vk;ru 
2200

7
 oxZ lseh gSA rks

bldh Å¡pkbZ fdruh gS\
(CGL MAINS 18-10-2020)

(a) 25 cm (b) 26 cm
(c) 13 cm (d) 5 cm
Rotation of a Right Angle Triangle

(,d ledks.k f=kHkqt dk ?kw.kZu)
(i) Along Base (vk/kj ds lekarj)
(ii) Along Perpendicular (yac ds lekarj)
(iii) Along Hypotenuse (d.kZ ds lekarj)

Rotate along (lekarj ?kw.kZu) = 9 cm

h = 9 cm

r = 12 cm

l = 15 cm
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Rotate along side (Hkqtk ds lekarj ?kw.kZu) = 12 cm

h = 12

r = 9 cm

l = 15 cm

If a right angled D whose sides are 9, 12 and
15 cm is rotated along its hypotenuse then
find the volume of the double cone formed.

;fn ,d ledks.k f=kHkqt ftldh Hkqtk,a 9] 12 rFkk
15 lseh gSa] d.kZ ds lekarj ?kqek;k tkrk gS] rks bl
çdkj cus f}&'kadq dk vk;ru Kkr dhft,A

Shortcut:

Here, b = base ; p = perpendicular & h =

hypotenuse

;gka] b = vk/kj ; p = yac vkSj h = d.kZ
97. A sector is formed by opening out a cone of

base radius 8 cm and height 6 cm. The radius
of the sector is (in cm.)

,d 8 lseh vk/kj f=kT;k rFkk 6 lseh Å¡pkbZ okys
'kadq dks •ksydj ,d f=kT;•aM cuk;k tkrk gSA ml
f=kT;•aM dh f=kT;k crk,¡A
(a) 4 (b) 8

(c) 10 (d) 6
98. A sector of circle of radius 3 cm has an angle

of 120°. If it is moulded into a cone, find
the volume of the conec

,d o`Ùk•aM ftldh f=kT;k 3 lseh& vkSj dks.k 120°

gS] dks ,d 'kadq ds :i esa cnyk tkrk gS] rks 'kadq dk
vk;ru Kkr djksA

(a)
3


 cm³ (b)

2 2

3


cm³

(c)
2 2


cm³ (d)

2


cm³

99. If the height of a circular cone is decreased
by 10% and its radius is increased by 10%,
then what will be the change in its volume?

;fn fdlh o`Ùkkdkj 'kadq dh ÅapkbZ 10» de dj nh
tkrh gS vkSj bldh f=kT;k dks 10» c<+k fn;k tkrk gS] rks
blds vk;ru esa D;k ifjorZu vk,xk\

SSC MTS 9 August 2019 (Afternoon)

(a) Decreases by 8.9%

(b) Decrease by 3.2%

(c) Increases by 8.9%

(d) Increases by 3.2%

100. If the radius of a right circular cone is
reduced by 10% and its height is increased
by 40%, then find the percentage increase
or decrease in its volume.

;fn ,d yac o`Ùkh; 'kadq dh f=kT;k dks 10» de fd;k
tkrk gS vkSj mldh ÅapkbZ dks 40» c<+k;k tkrk gS] rc
mlds vk;ru esa fdrus izfr'kr dh o`f¼ ;k fxjkoV gksrh
gS\

SSC MTS 20 August 2019 (Morning)

(a) 13.4% of decrease

(b) 1.34% of decrease

(c) 1.34% of increase

(d) 13.4% of increase

101.The volume of a conical tent is 1232 m3 and
the area of its base is 154 sq.m. Find the
length of the canvas required to build the
tent, if the width of canvas is 2 m.

,d 'kaDokdj VSaV tks diM+s ls cuk;k x;k gS mldk
vk;ru 1232 eh3 gS rFkk vk/kj dk {ks=kiQy 154 eh2

gSA vxj diM+s dh pkSM+kbZ 2 eh gS rks VSaV cukus ds
fy, fdrus yacs diM+s dh t:jr gksxhA
(a) 270 m (b) 272 m
(c) 276 m (d) 275 m

Frustum
102. The lateral surface area of frustum of a right

circular cone, if the area of its base is 16
cm2 and the diameter of circular upper
surface is 4 cm and slant height 6 cm, will be

,d yEc òÙkh; 'kadq ds fNUud ds vk/kj dk {ks=kiQy
16 lseh2 gS vkSj òÙkkdkj Åijh lrg dk O;kl 4 lseh
vkSj frjNh Å¡pkbZ 6 lseh gS] rks ik'oZ ì"Bh; {ks=kiQy gksxkA
(a) 30 cm2 (b) 48 cm2

(c) 36 cm2 (d) 60 cm2
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103. The radii of the two circular faces of a
frustum of a cone of height 14 cm are 5 cm
and 2 cm. What is its volume in cm3?

14 lseh Å¡pkbZ okys ,d 'kadq ds fNUud ds nks o`Ùkkdkj
iQydksa dh f=kT;k,¡ 5 lseh vkSj 2 lseh gSaA lseh3 esa bldk
vk;ru D;k gS\
(a) 572 (b) 520

(c) 560 (d) 540

104. The height of a cone is 45 cm. It is cut at a
height of 15 cm from its base by a plane
parallel to its base. If the volume of the
smaller cone is 18480 cm3, then what is
the volume (in cm3) of the original cone?

,d 'kadq dh ÅapkbZ 45 lseh gSA bls blds vk/kj ls 15
lseh dh ÅapkbZ ij blds vk/kj ds lekukarj ,d lery
}kjk dkVk tkrk gSA ;fn NksVs 'kadq dk vk;ru 18480
lseh3 gS] rks ewy 'kadq dk vk;ru (lseh3 esa) D;k gS\
(a) 34650 (b) 61600

(c) 36960 (d) 62370

105.A plane divides a cone into two parts of equal
volume. If the plane is parallel to the base,
then the ratio in which the height of the
cone is divided, is-

,d ry 'kadq dks nks cjkcj vk;ruksa esa ck¡Vrk gS ;fn
ry vk/kj ds lekukarj gS] rks Å¡pkbZ dk vuqikr D;k
gksxk tks 'kadq dks nks Hkkxksa esa ck¡Vrh gSA

(a) 1 : 2 (b) 31 : 2 -1

(c) 31 : 2 (d) 31 : 2 +1

106. If a right circular cone is separated into
solids of volumes V

1
, V

2
, V

3
 by two planes

parallel to the base which also trisect the
altitude, then V

1
 : V

2
 : V

3
 is-

vxj ,d yac o`Ùkh; 'kadq dks vk/kj ds lekarj nks
leryksa }kjk rhu Bksl Hkkxksa esa ck¡V fn;k tkrk gS
ftuds vk;ru Øe'k% V

1
, V

2
, V

3
 gS] tks mlds yac

(Å¡pkbZ) dks Hkh rhu cjkcj Hkkxksa esa ck¡Vrk gS rc V
1

: V
2
 : V

3

(a) 1 : 2 : 3 (b) 1 : 4 : 6

(c) 1 : 6 : 9 (d) 1 : 7 : 19

107. If the radii of the circular ends of a truncated
conical bucket which is 90 cm high be 14
cm and 7 cm, then the capacity of the
bucket in cubic centimetre is

,d 'kaDokdkj fNUud ckYVh ftldh Å¡pkbZ  90 lseh
gS dh f=kT;k,¡ 14 lseh rFkk 7 lseh gSaA ckYVh dh
/kfjrk lseh3 esa Kkr djks&
(a) 9485 (b) 32340

(c) 4815 (d) 48050

108.The base radius and height of a cone is 5
cm and 25 cm respectively. If the cone is
cut parallel to its base at a height of from
the base. If the volume of this frustum is

110 cm³. Find the radius of smaller cone?

,d 'kadq ds vk/kj dh f=kT;k 5 lseh vkSj ÅapkbZ 25
lseh gSA vk/kj ds lekukarj 'kadq dks h ÅapkbZ ls
dkVk tkrk gS] ;fn bl fNUud dk vk;ru 110 lseh3

gS rks NksVs 'kadq dh f=kT;k D;k gksxh \
(a) (104)1/3 cm (b) (104)1/2 cm

(c) 5 cm (d) None of these

109. The radii of two circular faces of the frustum
of a cone of height 21 cm are 3 cm and 2
cm respectively. What is the volume of the

frustum of the cone in cubic cm? 
22

=
7

 
  

21 lseh ÅapkbZ okys 'kadq ds fNUud ds nks o`Ùkkdkj
iQydksa dh f=kT;k Øe'k% 3 lseh vkSj 2 lseh gSA ?ku lseh
esa 'kadq ds fNUud dk vk;ru fdruk gksxk\

SSC CGL 11 June 2019 (Morning)

(a) 154 (b) 286

(c) 345 (d) 418

110. The radii of two circular faces of frustum of
a cone are 5 cm and 4 cm. If the height of
the frustum is 21 cm, what is its volume in

cubic cm? 
22

=
7

 
  

,d 'kadq ds fNUUkd ds nks o`Ùkkdkj iQydksa dh f=kT;k 5
lseh vkSj 4 lseh gSA ;fn fNUud dh ÅapkbZ 21 lseh gS]
rks ?ku lseh esa bldk vk;ru fdruk gksxk\

SSC CGL 11 June 2019 (Afternoon)

(a) 902 (b) 1056

(c) 1342 (d) 638

111. A reservoir is in the shape of a (b) 1.8 frustum
of a right circular cone. The radii of its
circular ends are 4 m and 8 m and its depth
is 7 m. How many kilo litre of water (correct
up to one decimal place) can it hold?

22
=

7

 
  

,d tyk'k; fdlh yEc o`Ùkh; 'kadq ds fNUud ds
vkdkj dk gSA blds o`Ùkkdkj fljkas dh f=kT;k,¡ 4 eh vkSj
8 eh dh gSa rFkk bldh xgjkbZ 7 eh gSA ;g fdrus
fdyksyhVj ikuh (n'keyo ds nks LFkku rd) dks /kj.k
dj ldrk gS\

SSC MTS 22 August 2019 (Morning)

(a) 821.3 (b) 815.7

(c) 792.3 (d) 775.7
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Sphere
112. The volume of a sphere is 4851 cm3, then

its surface area (in cm2) is : (Take  = 22/7)

;fn ,d xksys dk vk;ru 4851 ?ku lseh gS] rks bldk
i`"B {ks=kiQy (oxZ lseh esa) gksxk % ( = 22/7)

SSC CGL TIER II (12 September 2019)

(a) 1386 (b) 2772

(c) 1323 (d) 1337

113. If the surface area of a sphere is 1386 cm2,

then its volume is: ( p = 22/7 )

;fn ,d xksys dk lrg {ks=k 1386 oxZ lseh gS] rks
bldk vk;ru gS % (p = 22/7)

(CGL MAINS 18-10-2020)

(a) 8451 cm3 (b) 5418 cm3

(c) 4581 cm3 (d) 4851 cm3

114. If the radius of spher7e is increased by 2

cm its surface area increased by 352 cm2.

The radius of sphere before change is : (  =

22/7)

vxj ,d xksys dh f=kT;k 2 lseh ls c<+k nh tkrh gS
rks bldk i`"Bh; {ks=kiQy 352 lseh2 ls c<+ tkrk gSA
igys dh f=kT;k Kkr djsaA

(a) 3 cm (b) 4 cm

(c) 5 cm (d) 6 cm

115. The ratio of weights of two spheres of

different materials is 8 : 17 and the ratio of

weights per 1 cm3 of materials of each is 289

: 64. The ratio of radii of the two spheres is :

nks vyx&vyx /krqvksa ls cus xksyksa dk Hkkj dk
vuqikr 8 % 17 gS rFkk 1 ?ku lseh dh nj ij çR;sd
dk Hkkj dk vuqikr 289 % 64 gSA nksuksa xksyksa dh
f=kT;kvksa dk vuqikr Kkr djsaA

(a) 8:17 (b) 4:17

(c) 17:4 (d) 17:8

116.The sum of radii of two spheres is 10 cm

and the sum of their volume is 880 cm3.

What will be the product of their radii ?

nks xksyks dh f=kT;kvksa dk ;ksx 10 lseh gS rFkk
vk;ruksa dk ;ksx 880 lseh3 gSA mudh f=kT;kvksa dk
xq.kuiQy D;k gksxk

(a) 21 (b) 26
1

3

(c) 33
1

3
(d) 70

117. The volumes of sphere A and B are in the
ratio 125 : 64. If the sum of radii A and B is
36 cm, then the surface a rea ( in c m 2) of

A is:

A vkSj B xksys dk vk;ru 125%64 ds vuqikr esa gSA ;fn
A vkSj B dh f=kT;kvksa dk tksM+ 36 lseh gS] rks A dk
i`"B {ks=kiQy (oxZ lseh esa) fdruk gS\

SSC CGL 9 March 2020 (Afternoon)

(a) 512  (b) 1600 

(c) 800  (d) 1024 

118. If the radius of a sphere is increased by 4
cm, its surface area is increased by 464 
cm2. What is the volume (in cm3) of the

original sphere ?

f;nf dlh xksys dh f=kT;k 4 lseh ls c<+k nh tk,] rks
bldk i`"B {ks=kiQy 464 oxZ lseh ls c<+ tkrk gSA
vkjafHkd xksys dk vk;ru (?ku lseh esa) D;k Fkk \

SSC CGL TIER II (11 September 2019)

(a)
15625

6
 (b)

35937

8


(c)
11979

2
 (d)

15625

8
 

119. If the radius of a sphere is increased by 2.5
decimeter (dm), then its surface area
increases by 110 dm2. What is the volume

(in dm2) of the sphere? (take p = 22/7 )

;fn ,d xksys dk f=kT;k 2-5 MslhehVj (dm) c<+ tkrk
gS] rks bldk lrg {ks=k ls 110 oxZ MslhehVj c<+ tkrk
gSA xksys dk vk;ru (oxZ MslhehVj esa) D;k gS\

(CGL MAINS 16-10-2020)

(a)
3

7
(b)

11

21

(c)
13

21
(d)

4

7

120. The sum of the radii of spheres A and B is

14 cm, the radius of A being larger than
that of B. The difference between their
surface area is 112 p . What is the ratio of

volumes of A and B?

xksyk A vkSj B ds f=kT;k dk ;ksx 14 lseh gS] A dh
f=kT;k B dh rqyuk esa cM+h gSA muds lrg {ks=kiQy ds
chp dk varj 112p gSA A vkSj B ds vk;ru dk
vuqikr D;k gS\

(CGL MAINS 15-10-2020)

(a) 64 : 27 (b) 8 : 1

(c) 125 : 64 (d) 27 : 8
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121. The radius of a solid lead sphere is 2 cm.

2541 such spheres are melted and recast

into a cube of edge x cm. The value of x is

,d Bksl lhls ds xksys dh f=kT;k 2 lseh gSA ,sls 2541
xksys dks fi?kykdj x lseh fdukjs okys ?ku esa <kyk tkrk
gSA x dk eku gS

(take  = 22/7):

SSC MTS 26 /10/ 2021

(a) 33 (b) 22

(c) 44 (d) 66

122. A sphere of radius 4 cm is melted and recast

into smaller spheres of radii 2 cm each. How

many such spheres can be made?

4 lseh f=kT;k okys ,d xksys dks fi?kyk;k tkrk gS vkSj
izR;sd 2 lseh f=kT;k ds NksVs xksys esa cny fn;k tkrk gSA
,sls fdrus xksys cuk, tk ldrs gSa\

SSC CGL 12 June 2019 (Evening)

(a) 4 (b) 8

(c) 32 (d) 16

123. 0.1 percent of 1.728 × 106 spherical droplets

of water, each of diameter 2 mm, coalesce

to form a spherical bubble. What is the

diameter (in cm ) of the bubble ? / 1.728 ×

106

ikuh dh 1-728 × 106 xksykdkj cwans] ftuesa ls izR;sd dk
O;kl 2 fefe gS] mu dk 0-1 izfr'kr] ,d lkFk feydj
,d xksykdkj cqycqyk cukrs gSaA bl cqycqys dk O;kl
(lseh esa) D;k gS\ 1-728 × 106

SSC MTS 2 August 2019 (Morning)

(a) 1.2 (b) 1.6

(c) 1.8 (d) 2.4

124. 1000 solid spherical balls each of radius 0.6
cm are melted and recast into a single ball.
What is the surface area (in cm² ) of ball so
formed?

izR;sd 0-6 lseh f=kT;k okyh 1000 Bksl xksyh; xsanksa dks
fi?kykdj ,d xsan cukbZ tkrh gSA bl izdkj cuh xsan dk
i`"B {ks=kiQy (oxZ lseh esa) D;k gksxk\

SSC MTS 22 August 2019 (Morning)

(a) 144  (b) 128 

(c) 124  (d) 108 

125. A metallic sphere of diameter 40 cm is
melted into a smaller sphere of radius 0.5
cm. How many such small balls can be
made?

40 lseh O;kl okys /krq ds ,d xksys dks 0-5 lseh f=kT;k
okys ,d NksVs xksys ds :i esa fi?kyk;k tkrk gSA ,slh
fdruh NksVh xsans cukbZ tk ldrh gSa\

SSC CGL 6 March 2020 (Morning)

(a) 64000 (b) 32000

(c) 3200 (d) 6400

126. Three solid metallic spheres whose radii
are 1cm, x cm and 8 cm, are melted and
recast into a single solid sphere of
diameter 18 cm. The surface area (in ) of
cm2 the sphere with radius x cm is :

rhu Bksl /kI?d xksysf tudh f=kT;k,¡ 1 lseh] x lseh
vkSj 8 lseh gSa] mUgsas fi?kyk;k tkrk gS vkSj fiQj 18
lseh O;kl okyk ,d Bksl xksyk cuk;k tkrk gSA ml
xksys dk i`"B {ks=kiQy (oxZ lseh esa) Kkr djsa ftldh
f=kT;k x lseh FkhA

SSC CGL TIER II (11 September 2019)

(a) 144  (b) 72 

(c) 64  (d) 100 

127. A metallic solid spherical ball of radius 3

cm is melted and recast into three

spherical balls. The radii of two of these

balls are 2 cm and 1.5 cm . What is the

surface area (in cm2) of the third ball?

f=kT;k 3 lseh dh ,d Bksl xksykdkj xsan dks fi?kyk;k
tkrk gS vkSj rhu xksykdkj xsanksa esa cny fn;k tkrk
gSA bu xsanksa esa ls nks dh f=kT;k 2 lseh vkSj 1-5 lseh
gSA rhljh xsan dk lrg {ks=k (oxZ lseh esa) D;k gS\

(CGL MAINS 16-10-2020)

(a)
25

2
p (b)

25

4
 p

(c) 50 p (d) 25 p
128. The number of lead balls, each 3cm in

diameter, that can be made from a solid

lead sphere of diameter 42 cm is :

çR;sd 3 lseh O;kl okys ysM xsanksa dh la[;k D;k gksxh
ftls 42 lseh O;kl okys Bksl ysM xksys ls cuk;k tk
ldrk gS\

(CGL MAINS 18-10-2020)

(a) 2742 (b) 2744

(c) 4722 (d) 7244

129. A solid metallic sphere of radius 15cm

melted and recast into spherical balls of

radius 3 cm each. What is the ratio of the

surface area of the original and the sum of

the surface area of the balls?
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15 lseh f=kT;k dk ,d Bksl /kfRod {ks=k dks fi?kykdj
f=kT;k 3 lseh ds  çR;sd xksykdkj xsan cukbZ tkrh gSA
ewy lrg ds {ks=kiQy vkSj xsanksa ds lrg ds ;ksx dk
vuqikr D;k gS\

CGL MAINS 15-10-2020

(a) 1 : 5 (b) 1 : 10

(c) 5 : 27 (d) 3 : 40

130. The ratio of total surface area and volume

of a sphere is 1:7. This sphere is melted to

form small spheres of equal size. The radius

of each small sphere is 1/6th the radius of

the large sphere. What is the sum (in cm2)

of curved surface areas of all small spheres?

,d xksys ds dqy i`"Bh; {ks=kiQy vkSj vk;ru dk vuqikr
1%7 gSA bl xksys dks fi?kykdj leku vkdkj ds NksVs
xksys cuk, tkrs gSaA çR;sd NksVs xksys dh f=kT;k cM+s xksys
dh f=kT;k dh 1@6 gSA lHkh NksVs xksyksa ds oØ i`"Bh;
{ks=kiQyksa dk ;ksx (lseh2 esa) D;k gS\
(a) 31276 (b) 25184

(c) 25182 (d) 33264

131. If the radius of a sphere is increased by 16
2

3

%, then by what per cent would its surface

area increase (correct to one decimal place)?

;fn fdlh xksys dh f=kT;k esa 16
2

2
» dh o`f¼ gksrh gS]

rks blds i`"B {ks=kiQy esa gqbZ izfr'kr o`f¼ (Bhd ,d
n'keyo LFkku rd) Kkr djsaA

SSC MTS 27 /10/ 2021

(a) 33.9% (b) 35.6%

(c) 34.8% (d) 36.1%

132. The radius of a sphere is reduced by 40%.
By what percent, will its volume decrease?

,d xksys dh f=kT;k dks 40» de dj fn;k tkrk gS]
bldk vk;ru fdrus izfr'kr ?kVsxk\

SSC CGL 10 June 2019(Afternoon)

(a) 60% (b) 64%

(c) 72.5% (d) 78.4%

133. A spherical metallic shell with 6 cm
external radius weighs 6688 g, What is the
thickness of the shell if the density of
metal is 10.5 g per cm3 ? (take p = 22/7)

6 lseh ds ckgjh f=kT;k ds lkFk ,d xksykdkj /kfRod
'kSy dk otu 6688 xzke gSA ;fn /krq dk ?kuRo
10-5 xzke izfr lseh gS rks 'ksy dh eksVkbZ D;k gS\
(efku, p = 22/7)

(CGL MAINS 15-10-2020)

(a) 2 cm (b) 3 cm

(c)
1

2
2

 cm (d) 4 cm

134.A ball of lead 4 cm in diameter is covered
with gold. If the volume of the gold and lead
are equal, then the thickness of gold [given

3 2 = 1.259] is approximately.

,d 'kh'ks dh cky ftldh O;kl 4 lseh gS] dks lksus
ls <+d fn;k x;k gSA vxj lksus rFkk 'kh'ks dk vk;ru
,d leku gS rc lksus dh ijr dh eksVkbZ Kkr djsaA
(fn;k gS 3 2 = 1.259)

(a) 5.038 cm (b) 5.190 cm

(c) 1.038 cm (d) 0.518 cm

135.A sphere of diameter 14 cm is cut into two
halves. Find the increase in its surface area.

,d 14 lseh O;kl okys xksys dks nks cjkcj Hkkxksa esa
dkVk tkrk gS rks i`"Bh; {ks=kiQy esa fdruh o`f¼
gksxh\
(a) 207 cm² (b) 154 cm²

(c) 308 cm² (d) 616 cm²

136. A sphere of radius 21 cm is cut into 8

identical parts by 3 cuts (1 cut along each

axis). What will be the total surface area (in

cm2) of each part?

21 lseh f=kT;k ds ,d xksys dks 8 leku Hkkxksa esa 3 dVksa
(çR;sd v{k ds lkFk 1 dV) esa dkVk tkrk gSA çR;sd
Hkkx dk dqy i`"Bh; {ks=kiQy (lseh2 esa) D;k gksxk\
(a) 844.5 (b) 1732.5

(c) 1039.5 9 (d) 1115.6

137.A spherical ball of radius 12 cm is cut at
some distance (x cm) from its centre, into
two different pieces. If the surface area of
newly formed pieces is 29/24 of the ball’s
original surface area, then find value of x
(in cm).

,d xksyk ftldh f=kT;k 12 lseh gS dsUæ ls x lseh
dh nwjh ij nks Hkkxksa esa dkVk tkrk gS u;s VqdM+s dk
i`"Bh; {ks=kiQy okLrfod i`"Bh; {ks=kiQy dk  29@24
gS rks x dk eku lseh esa gksxk&

(a) 2 21 cm (b) 3 21 cm

(c) 4 21 (d) None of these

Hemisphere
138. What is the total surface area and the curved

surface area of a solid hemisphere with a

radius of 14 cm.

14 lseh dh f=kT;k okys fdlh Bksl v/Zxksys dk laiw.kZ
i`"B {ks=kiQy rFkk oØ i`"B {ks=kiQy fdruk gS\
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SSC MTS 6 August 2019 (Afternoon)

(a) 5544 cm², 1848 cm²

(b) 1848 cm², 1232 cm²

(c) 924 cm², 1848 cm²

(d) 2772 cm², 1848 cm²

139. The radius of hemisphere is 14cm. What is

the cost of painting the outer curved surface

of the hemisphere at the rate of Rs. 45 per

sq.cm? 
22

=
7

 
  

,d v/Zxksys dh f=kT;k 14 lseh gSA bl v/Zxksys ds ckgjh
oØ i`"B dks 45 :i;s izfr oxZ lseh dh nj ls jaxus dh
ykxr Kkr djsaA

SSC MTS 8 August 2019 (Morning)

(a) Rs. 53160 (b) Rs. 55440

(c) Rs. 56820 (d) Rs. 58280

140. The volume of a hemisphere is 2425
1

2

cm3. Find its radius. (Take p = 22/7)

,d xksyk¼Z dk vk;ru 2425
1

2
 ?ku lsseh gS rks mldh

f=kT;k Kkr djsaA (p = 22/7)
(a) 10 cm (b) 9.5 cm

(c) 12 cm (d) 10.5 cm

141.The volume (in cm³) of the material of a
hemispherical shell with outer and inner
radii 6 cm and 5 cm respectively is

,d v/Zxksykdkj oy; dh lkexzh dk vk;ru (lseh
esa) Øe'k% ckgjh vkSj vkarfjd f=kT;k 6 lseh vkSj 5
lseh gS

(a)
124

3


(b)

241

3



(c)
182

3


(d)

418

3



142.A hemispherical bowl is 176 cm round the

brim. Supposing it to be half full, how many

persons may be served from it in

hemispherical glasses 4 cm in diameter at

the top ?

,d v¼Zxksykdkj dVksjs dk ifjeki 176 lseh gS]
ekuk fd ;g vk/k Hkjk gqvk gS] rc 4 lseh O;kl
okys v¼Zxksykdkj Xykl ls fdrus yksxksa esa iwrhZ dh
tk ldrh gS \

(a) 1372 (b) 1272

(c) 1172 (d) 1472

143. The internal and external radii of a hollow
hemispherical vessel are 6 cm and 7 cm
respectively. What is the total surface are
(in ) of the vessel cm2 ?

,d [kks[kys v¼Zxksyh; crZu dh vkarfjd vkSj oká
f=kT;k Øe'k% 6 lseh vkSj 7 lseh gSA bl crZu dk dqy
i`"B {ks=kiQy (oxZ lseh esa) Kkr djsaA

SSC CGL TIER II (11 September 2019)

(a) 183  (b) 189 

(c) 177  (d) 174 

144. The internal diameter of a hollow
hemispherical vessel is 24 cm. It is made
of a steel sheet which is 0.5 cm thick.
What is the total surface area (in cm2) of
the vessel ?

,d •ks•ys v¼Zxksyh; crZu dk vkrafjd O;kl 24
lseh gSA ;g bLikr dh pknj ls cuk gqvk gS ftldh
eksVkbZ 0-5 lseh gSA bl crZu dk dqy i`"B {ks=kiQy
(oxZ lseh esa) Kkr djsaA

SSC CGL TIER II (13 September 2019)

(a) 612.75  (b) 468.75 

(c) 600.2  (d) 600.5 

145. A hemispherical tank full of water is
emptied by a pipe at the rate of 7.7 liters
per seconds. How much time(in hours) will

it take to empty 
2

3
 part of the tank if the

internal radius of the tank is 10.5 m ?

ikuh ls Hkjk ,d xksyk¼Z VSad 7-7 yhVj izfr lsdaM
dh nj ls ,d ikbi }kjk [kkyh fd;k tkrk gSA VSad ds
2

3
 fgLls dks [kkyh djus esa fdruk le; yxsxk (?kaVs

esa) ;fn VSad dh vkarfjd f=kT;k 10-5 ehVj gS\
(CGL MAINS 16-10-2020)

(a)
185

6
(b)

175

3

(c)
185

3
(d)

175

2

146. The total surface area of a hemisphere is

very nearly equal to that of an equilateral

triangle. The side of the triangle is how

many times (approximately) of the radius

of the hemisphere?

,d xksyk/Z dk dqy ì"Bh; {ks=kiQy ,d leckgq f=kHkqt ds
{ks=kiQy ds yxHkx cjkcj gSA f=kHkqt dh Hkqtk xksyk/Z dh
f=kT;k dh fdruh xquk (yxHkx) gS\

SSC MTS 02 /11/ 2021
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(a)  
0.5

2π 3 (b)
 
  

0.5
4π

3

(c)
 
  

0.5
8π

3
(d)  

0.5

4π 3

Combination of Figures
147. An 18 m deep well with diameter 7 m is

dug and t he earth from digging is spread

evenly to form a platform 18 m × 14 m .The

height of the platform is:

7 eh O;kl okyk 18 eh xgjk ,d dqvka [kksnk x;k gSA
[kqnkbZ ls fudyh feVVh dks 18 eh × 14 eh dk lery
IysViQWkeZ rS;kj djus ds fy, leku :i ls iQSy;k tkrk
gSA IysViQkWeZ dh ÅapkbZ fdruh gksxh\

SSC CPO 15 March 2019 (Evening)

(a) 2.6 m (b) 3.2 m

(c) 2.75 m (d) 3.05 m

148. Water flows into a tank 180 m × 140 m
through a rectangular pipe of 1.2m × 0.75m
at a rate of 15 km/h. In what time will the
water rise by 4 m?

15 fdeh@?kaVk dh nj ls 1-2 ehVj 0-75 ehVj ds
vk;rkdkj ikbi ds ekè;e ls ,d VSad 180 ehVj 140
ehVj esa ikuh cgrk gSA fdl le; esa ikuh 4 ehVj c<+
tk,xk\

CHSL 14-10-2020 (Afternoon shift)

(a) 6 hours 42 minutes

(b) 7 hours 28 minutes

(c) 5 hours 46 minutes

(d) 8 hours 12 minutes

149. A 15m deep well with radius 2.8 m is dug
and the earth taken out from it is spread
evenly to form a platform of breadth 8m
and height 1.5m. What will be the length
of the platform ? (Take  = 22/7)

2-8 eh f=kT;k okyk 15 eh xgjk ,d dqvk¡ •ksnk tkrk
gS rFkk blls fudyh feV~Vh dks leku :i ls iQSykdj
8 eh pkSM+kbZ rFkk 1-5 eh ÅapkbZ okyk ,d pcwrjk cuk;k
tkrk gSA bl pcwrjs dh yackbZ gksxh\ ( = 22@7)

SSC CGL TIER II (13 September 2019)

(a) 28.4 m (b) 28.8 m

(c) 30.2 m (d) 30.8 m

150. A cylindrical vessel of radius 30cm and
height 42 cm is full of water. Its contents
are emptied into a rectangular tub of length
75cm and breadth 44cm. The height (in cm)
to which the water rises in the tub is:

22
=

7

 
  

f=kT;k 30 lseh rFkk ÅapkbZ 42 lseh okyk ,d csyukdkj
crZu ikuh ls iw.kZr% Hkjk gqvk gSA bldh lkexzh dks ,d
vk;rkdkj Vc esa mMs+y fn;k tkrk gSA ftldh yackbZ 75
lseh rFkk pkSM+kbZ 44 lseh gSA Vc esa ikuh dk Lrj fdruh
ÅapkbZ (lseh esa) rd c<s+xk\

SSC CGL 4 March 2020 (Afternoon)

(a) 36 (b) 30

(c) 40 (d) 45

151. A hemisphere of radius 30 cm is moulded
to form a cylinder of height 180 cm. The
diameter of the cylinder is:

30 lseh f=kT;k okys ,d v/Zxksys dks fi?kykdj 180
lseh ÅapkbZ okyk ,d csyu cuk;k tkrk gSA bl csyu dk
O;kl gS%

SSC MTS 14 August 2019 (Afternoon)

(a) 15 cm (b) 10 cm

(c) 5 cm (d) 20 cm

152. A solid metallic cylinder, whose base radius

is 4 cm and height is 5
1

3
cm, is melted and

converted into a sphere. What is the surface

area of the sphere. ( in cm²)

,d Bksl /krq ds csyu (flfyaMj)] ftldh vk/kj

f=kT;k 4 lseh gS vkSj ÅapkbZ 
1

5
3
 lseh gS] dks fi?kykdj

,d xksys ds :i esa ifjofrZr fd;k tkrk gSA xksys dk i`"B
{ks=kiQy] lseh2 esa] fdruk gS\

SSC MTS 20 August 2019 (Morning)

(a) 64  (b) 96 

(c) 80  (d) 40 

153. 2541 metallic sphere balls, each with a

radius of 1 cm, are melted to form a cube.

The total surface area of the cube ( in cm² )

in the nearest form will be :

2541 xksykdkj /krqe; xsanksa] ftudh izR;sd dh f=kT;k 1
lseh gS] dks fi?kykdj ,d ?ku cuk;k tkrk gSA ?ku dk
laiw.kZ i`"B {ks=kiQy (oxZ lseh2 esa) fudVre :i esa gksxk%

SSC MTS 21 August 2019 (Evening)

(a) 1936 (b) 2904

(c) 2992 (d) 3168

154. A cylindrical vessel with radius 6 cm and

height 5 cm is to be made by melting a

number of spherical metal balls of diameter

2 cm. The minimum number of balls needed

is:
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,d csyukdkj crZu] ftldh f=kT;k 6 lseh vkSj ÅapkbZ 5
lseh gS] mldk fuekZ.k dbZ xksyh; /krq dh xsanksa ls fd;k
tkuk gS] ftldk O;kl 2 lseh gSA U;wure fdruh xsanksa dh
vko';drk gksxh \

CHSL 13-10-2020 (Morning Shift)

(a) 125 (b) 135

(c) 115 (d) 105

155. A solid metallic sphere of radius 8 cm is

melted and drawn into a wire of uniform

cross-section. If the length of the wire is

24 m, then its radius (in mm) is :

8 lseh f=kT;k okys ,d Bksl /kfRod xksys dks fi?kyk;k
tkrk gS vkSj ,d leku vuqçLFk dkV okyk ,d rkj
cuk;k tkrk gSA ;fn rkj dh yackbZ 24 eh gS] rks bldh
f=kT;k gksxh %

SSC CGL TIER II (12 September 2019)

(a) 6 (b) 5

(c) 5
1

3
(d) 6

2

3

156. A right circular solid cone of radius 3.2 cm

and height 7.2 cm is melted and recast

into a right circular cylinder of height 9.6

cm. What is the diameter of the base of the

cylinder ?

3-2 lseh f=kT;kk vkSj 7-2 lseh ÅapkbZ okys ,d yEc
o`Ùkh; Bksl 'kadq dks fi?kyk;k tkrk gS rFkk 9-6 lseh
Å¡pkbZ okyk ,d yEc o`Ùkh; csyu cuk;k tkrk gSA
csyu ds vk/kj dk O;kl fdruk gS \

SSC CGL TIER II (12 September 2019)

(a) 4.2 cm (b) 4.5 cm

(c) 3.5 cm (d) 3.2 cm

157. A solid hemisphere has radius 14 cm. It is

melted to form a cylinder such that the ratio

of its curved surface area and total surface

area is 2: 3. What is the radius (in cm) of its

base?

,d Bksl v/Zxksys dh f=kT;k 14 lseh gSA bls fi?kykdj
,d csyu bl çdkj cuk;k tkrk gS fd blds oØ i`"Bh;
{ks=kiQy vkSj dqy i`"Bh; {ks=kiQy dk vuqikr 2%3 gksA
blds vk/kj dh f=kT;k (ls-eh- esa) D;k gS\

(a) 3

10

3
(b) 3

14

3

(c) 3

7

3
(d) 3

21

3

158. A hemispherical bowl of internal diameter
36 cm is full of a liquid. This liquid is to
be filled into cylindrical bottles each of
radius 3 cm and height 12 cm. How many
such bottles are required to empty the bowl ?

36 lseh vkrafjd O;kl okyk v/Zxksyh; dVksjk fdlh
rjy inkFkZ ls Hkjk gqvk gSA bl rjy inkFkZ dks csyukdkj
cksryksa esa Mkyk tkrk gS ftuesa ls izR;sd dh f=kT;k 3
lseh vkSj ÅapkbZ 12 lseh gSA dVksjs dks •kyh djus ds
fy, ,slh fdruh cksryksa dh vko'drk gS\

SSC CGL TIER II (12 September 2019)

(a) 72 (b) 54

(c) 36 (d) 27

159. N solid metallic spherical balls are melted
and recast into a cylindrical rod whose
radius is 3 times that of a spherical ball
and height is 4 times the radius of a
spherical ball. The value of N is :

N Bksl /kfRod xksykdkj xsanksa dks fi?kykdj ,d
csyukdkj NM+ cuk;k tkrk gS ftldh f=kT;k ,d
xksykdkj xsan dh f=kT;k ls frxquh gS vkSj ÅapkbZ ,d
xksykdkj xsan dh f=kT;k ls pkSxquh gSA N dk eku gS %

SSC CGL TIER II (13 September 2019)

(a) 30 (b) 27

(c) 24 (d) 36

160. A solid cylinder of base radius 12cm and
height 15 cm is melted and recast into n
toys each in the shape of a right circular
cone of height 9 cm mounted on a
hemisphere of radius 3 cm. The value of n
is :

vk/kj f=kT;k 12 lseh rFkk ÅapkbZ 15 lseh okys ,d
Bksl csyu dks fi?kykdj n f•ykSus cuk, tkrs gSa ftuesa
ls çR;sd 3 lseh f=kT;kk okys v¼Zxksys ds 'kh"kZ ij
fLFkr ,d yEc o`Ùkh; 'kadq ds vkdkj esa gS tldh
ÅapkbZ 9 lseh gSA n dk eku Kkr djsaA

SSC CGL TIER II (13 September 2019)

(a) 24 (b) 64

(c) 48 (d) 54

161. A copper wire of radius 0.5 mm and length

42
2

3
m is melted and converted into a

sphere of radius R cm. What is the value of
R?

f=kT;k 0.5 mm vkSj yackbZ 
2

42
3
 eh okys ,d rkacs ds

rkj dks fi?kykdj f=kT;k R lseh okys ,d xksys dk :i
fn;k tkrk gSA R dk eku D;k gS\

SSC MTS 22 August 2019 (Afternoon)
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(a) 3 (b) 2

(c) 1.5 (d) 1.8

162. A container in the shape of a right circular

cone, whose radius and depth are equal, gets

completely filled by 128000 spherical

droplets, each of diameter 2 mm. What is

the radius (in cm) of the container?

yaco`Ùkh; 'kadq ds vkdkj dk ,d ek=k gS] ftldh f=kT;k
vkSj xgjkbZ cjkcj gS] ;g 2 mm O;kl dh 128000
xksykdkj cawnksa ls iwjh rjg ls Hkj tkrk gSA ik=k dh f=kT;k
(lseh esa) Kkr djsaA

SSC MTS 05 /10/ 2021

(a) 2 (b) 8

(c) 6 (d) 4

163. Asolid metal cube of edge 12 cm is
immersed completely in water in a
cylindrical vessel whose radius is 20 cm and
height is 32 cm, and the water in the vessel
is up to a height of 15 cm. The height (in
cm) by which the water will rise in the vessel
is (correct to one decimal place):

12 lseh dksj okys Bksl /kfRod ?ku dks 20 lseh f=kT;k
vksj 32 lseh Å¡pkbZ okys csyukdkj crZu esa iwjh rjg ls
Mqck;k tkrk gS vkSj crZu esa ikuh 15 lseh Å¡pkbZ rd gSA
crZu esa ikuh fdruh Å¡pkbZ (lseh esa) rd (Bhd ,d
n'keyo LFkku rd) mBsxk\

SSC MTS 06 /10/ 2021

(a) 0.9 (b) 1.1

(c) 1.4 (d) 1.2

164. A solid metallic cylinder with a base radius
of 3 cm and a height 120 of cm is melted
and recast into a sphere of radius r cm. What
is the value of r if there is a 10% metal loss
in the conversion?

3 lseh dh vk/kj f=kT;k vkSj 120 lseh dh ÅapkbZ okys
,d Bksl /krq ds flysaMj dks fi?kyk;k tkrk gS vkSj
f=kT;k r lseh ds ,d xksys esa cny fn;k tkrk gSA ;fn
:ikarj.k esa 10» /krq dh gkfu gksrh gS] rks r dk eku
D;k gksxk\

SSC MTS 08 /10/ 2021

(a) 12 (b) 13.5

(c) 9 (d) 8

165. A sphere is inscribed in a cube. What is the
ratio of the volume of the cube to t he
volume of the sphere?

,d xksys dks fdlh ?ku esa Mkyk x;k gSA ?ku ds vk;ru
rFkk xksys ds vk;ru esa vuqikr Kkr djsaA

SSC MTS 19 August 2019 (Evening)

(a) 6:  (b) 8: 

(c) 11:2  (d) 9:2 

166. From a solid made of wood with radius 6

cm, a cube of maximum possible volume is

cut. The side of the cube is :

ydM+h ds cus 6 lseh f=kT;k ds ,d Bksl ls] vf/dre
laHkkfor ifjek.k (OkkWY;we) ds ,d ?ku dks gVk;k tkrk
gSA ?ku dh Hkqtk Kkr dhft,A

SSC MTS 20 August 2019 (Afternoon)

(a) 4 3 cm (b) 3 3 cm

(c) 6 3 cm (d) 2 3 cm

167. Aright circular cone is inscribed in a cube

of side 9 cm occupying the maximum space

possible. What is the ratio of the volume of

the cube to the volume of the cone?

,d yEc o`Ùkh; 'kadq 9 lseh Hkqtk okys ?ku esa vafdr gS
tks vf/dre laHko LFkku ?ksjrk gSA ?ku ds vk;ru dk
'kadq ds vk;ru ls vuqikr D;k gS\

(Take  = 22/7)

SSC MTS 18 /10/ 2021

(a) 22 : 81 (b) 42 : 11

(c) 11 : 42 (d) 81 : 22

168. A cube is placed inside a cone of radius 20

cm and height 10 cm, one of its face being

on the base of the cone and vertices of

opposite face touching the cone. What is

the length (in cm) of side of the cube?

,d ?ku dks 20 lseh f=kT;k vkSj 10 lseh ÅapkbZ okys ,d
'kadq ds vanj j•k x;k gS] ftldk ,d iQyd 'kadq ds
vk/kj ij gS vkSj foijhr iQyd ds 'kh"kZ 'kadq dks Nwrs gSaA
?ku dh Hkqtk dh yackbZ (ls-eh- esa) D;k gS\
(a) 5 (b) 6

(c) 40/(4 + 2 ) (d) 9

169. A right circular cylinder of maximum

volume is cut out from a solid wooden

cube. The material left is what percent of

the volume (nearest to an integer) of the

original cube ?

,d Bksl ydM+h ds ?ku ls vf/dre vk;ru okyk
,d yEc o`Ùlh; csyu dkVk tkrk gSA cph gqbZ lkexzh
vkjafHkd ?ku ds vk;ru (,d iw.kk±d ds fudVre)
dk fdruk çfr'kr gS \

SSC CGL TIER II (11 September 2019)

(a) 19 (b) 28

(c) 23 (d) 21
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170. A hemisphere is kept on top of a cube, its

front view is shown in the given figure. The

total height of the figure is 21 cm. The ratio

of curved surface area of hemisphere and

total surface area of cube is 11 : 42. What

is the total volume (in cm3) of figure?

,d ?ku ds Åij ,d v/Zxksyk j•k x;k gS] mldk lkeus
dk n`'; fn, x, fp=k esa fn•k;k x;k gSA vkÑfr dh
dqy ÅapkbZ 21 lseh gSA v/Zxksys ds oØ i`"Bh; {ks=kiQy
vkSj ?ku ds dqy i`"Bh; {ks=kiQy dk vuqikr 11%42 gSA
vkÑfr dk dqy vk;ru (lseh3 esa) D;k gS\

(a) 3318.33 (b) 3462.67

(c) 3154.67 (d) 3248.33

171. Two identical hemispheres of maximum

possible size are cut from a solid cube of

side 14 cm. The bases of the hemispheres

are part of the two opposite faces of cube.

What is the total volume (in cm3) of the

remaining part of the cube?

vf/dre laHko vkdkj ds nks leku xksyk¼ks± dks 14
lseh Hkqtk okys ,d Bksl ?ku ls dkVk tkrk gSA xksyk¼ks±
ds vk/kj ?ku ds nks foijhr iQydksa ds Hkkx gksrs gSaA ?ku
ds 'ks"k Hkkx dk dqy vk;ru (lseh3 esa) fdruk gS\

(a) 1556.33 (b) 898.5

(c) 1467.33 (d) 1306.67

172. A sphere of maximum volume is cut out

from a solid hemisphere. What is the ratio

of the volume of the sphere to that of the

remaining solid ?

fdlh Bksl v¼Zxksys ls vf/dre vk;ru okyk ,d
xksyk dkVk tkrk gSA xksys ds vk;ru ,oa 'ks"k cps Bksl
ds vk;ru ds chp vuqikr Kkr djsaA

SSC CGL TIER II (13 September 2019)

(a) 1 : 4 (b) 1 : 2

(c) 1 : 3 (d) 1 : 1

173.A sphere of maximum volume is cut out from

a solid hemisphere of radius r. The ratio of

the volume of the hemisphere to that of the

cut out sphere is :

,d r f=kT;k okys Bksl v¼Zxksys ls vf/dre vk;ru
okyk ,d xksyk dkVk tkrk gSA v¼Zxksys ds vk;ru
dk dkVs x;s xksys ds vk;ru ls vuqikr D;k gksxk\

(a) 3:2 (b) 4:1

(c) 4:3 (d) 7:4

174. Radius of base of a hollow cone is 8 cm and

its height is 15 cm. A sphere of largest

radius is put inside the cone. What is the

ratio of radius of base of cone to the radius

of sphere?

,d •ks•ys 'kadq ds vk/kj dh f=kT;k 8 lseh gS vkSj
bldh ÅapkbZ 15 lseh gSA lcls cM+s f=kT;k dk ,d xksyk
'kadq ds vanj j•k x;k gSA 'kadq ds vk/kj dh f=kT;k dk
xksys dh f=kT;k ls vuqikr D;k gS\
(a) 5:3 (b) 4:1

(c) 2:1 (d) 7:3

175. The volume of a right circular cone is equal

to that of a sphere, whose radius i s half

the radius of the base of the cone. What is

the ratio of the radius of the base to the

height of the cone ?

,d yac o`Ùkh; 'kadq dk vk;ru ml xksys ds vk;ru ds
cjkcj gS] ftldh f=kT;k 'kadq ds vk/kj dh f=kT;k ls
vk/h gSA 'kadq ds vk/kj dh f=kT;k vkSj 'kadq dh ÅapkbZ
esa D;k vuqikr gS\

SSC CHSL 11 July 2019 (Afternoon)

(a) 1:4 (b) 1:2

(c) 4:1 (d) 2:1

176. Radius of the base of a right circular cone

and a s per is each equal to r. If the sphere

and the cone have the same volume, then

what is the height of the cone?

,d yEc o`Ùkh; 'kadq ds vk/kj dh f=kT;k vkSj r çfr
çR;sd r ds cjkcj gSA ;fn xksys vkSj 'kadq dk vk;ru
leku gS] rks 'kadq dh Å¡pkbZ D;k gS\

SSC MTS 2 August 2019 (Morning

(a) 7r (b) 4r

(c) 2r (d) 3r

177. The total surface area of a solid right circular

cone is equal to that of a sphere of the same

radius. The height of the cone is how many

times the diameter of the sphere?

,d Bksl yEco`Ùkh; 'kadq dk laiw.kZ i`"Bh; {ks=kiQy leku
f=kT;k okys xksys ds {ks=kiQy ds cjkcj gSA 'kadq dh ÅapkbZ
xksys ds O;kl dh fdruh xquh gksxh\

SSC MTS 18 /10/ 2021
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(a) 3 2 (b) 2 2

(c) 2 (d)
2

2

178. The radius of a sphere is equal to the base

radius and height of a right circular  cylinder.

What is the ratio between the surface area

of the sphere and curved surface area of the

cylinder ?

fdlh xksys dh f=kT;k] ,d yacor csyu (flfyaMj) ds
vk/kj dh f=kT;k rFkk ÅapkbZ ds cjkcj gSA xksys dh
i`"BHkwfe {ks=kiQy (ljiQsl ,fj;k) rFkk csyu (flfyaMj)
ds oØ i`"B ds {ks=kiQy dk vuqikr fdruk gS\

SSC MTS 5 August 2019 (Afternoon)

(a) 2:1 (b) 1:2

(c) 1:1 (d) 2:3

179. The volumes of a sphere and a right circular
cylinder is equal. The radii of the sphere
and the cylinder are 21 cm and 14 cm
respectively. The height of the cylinder is :

fdlh xksys vkSj fdlh yaCo`Ùkh; csyu (flfyaMj) dk
vk;ru lkeku gSA xksyk vkSj csyu dh f=kT;k Øe'k% 21
lseh vkSj 14 lseh gSA csyu dh ÅapkbZ fdruh gS\

SSC MTS 16 August 2019 (Evening)

(a) 63 cm (b) 56 cm

(c) 42 cm (d) 49 cm

180. A right circular cylinder has height 28 cm
and radius of base 14 cm. Two hemispheres
of radius 7 cm each are cut from each of the
two bases of the cylinder. What is the total
surface area (in cm²) of the remaining part?

,d yEc o`Ùkh; csyu dh Å¡pkbZ 28 lseh vkSj vk/kj dh
f=kT;k 14 lseh gSA csyu ds nksuksa vk/kjksa esa ls çR;sd ls
7 lseh f=kT;k okys nks xksyk¼ks± dks dkVk tkrk gSA 'ks"k
Hkkx dk dqy i`"Bh; {ks=kiQy (lseh2 esa) fdruk gS\
(a) 3842 (b) 4312

(c) 3296 (d) 4436

181. The radii of a right circular cone and a right

circular cylinder care in the ratio 2:3. If  the

ratio ofheights of the cone and the cylinder

is 3:4, then what is the ratio of the volumes

of the cone and the cylinder?

,d yac o`Ùkh; 'kadq rFkk yac o`Ùkh; csyu dh f=kT;k,¡
2%3 ds vuqikr esa gSaA ;fn 'kadq rFkk csyu dh ÅapkbZ esa
3%4 dk vuqikr gS] rks 'kadq rFkk csyu ds vk;ru esa D;k
vuqikr gksxk\

SSC MTS 6 August 2019 (Evening)

(a) 1:6 (b) 1:3

(c) 1:9 (d) 2:3

182. The volume of a right circular cylinder is 3
times the volume of a right circular cone.
The radius of the cone and the cylinder are
3cm and 6cm respectively. If the h eight of
the cylinder is 1cm, then what is the slant
height of the cone?

fdlh yac o`Ùkh; csyu dk vk;ru ,d yac o`Ùkh; 'kadq
ds vk;ru ls rhu xquk gSA 'kadq rFkk csyu dh f=kT;k
Øe'k% 3 lseh vkSj 6 lseh gSA ;fn csyu dh ÅapkbZ 1
lseh gS] rks 'kadq dh fr;Zd ÅpkbZ Kkr djsaA

SSC MTS 19 August 2019 (Morning)

(a) 13 cm (b) 4 cm

(c) 5 cm (d) 15 cm

183. Three toys are in the shape of the cylinder,
hemisphere, and cone. The three toys have
the same base. The height of each toy is

2 2  cm. What is the ratio of the total

surface areas of the cylinder, hemisphere
and cone respectively?

rhu f•ykSus csyu] xksyk¼Z vkSj 'kadq ds vkdkj esa gSaA
rhu f•ykSuksa dk ,d gh vk/kj gSA çR;sd f•ykSus dh

ÅapkbZ 2 2  lseh gSA csyu] v/Zxksys vkSj 'kadq ds dqy
i`"Bh; {ks=kiQyksa dk Øe'k% vuqikr fdruk gS\

(a) 4 : 3 :   
 

2 +1 (b) 4 : 3 :   
 
2 + 2

(c) 4 : 3 : 2 2 (d) 2 : 1 : (1 + 2 )

184. The curved surface area of a cylinder is 2640
square cm and its volume is 26400 cubic
cm. The curved surface area of a right
circular cone, having the same base and
height as that of the cylinder, will be how
much?

,d csyu dk oØ i`"Bh; {ks=kiQy 2640 oxZ lseh gS vkSj
bldk vk;ru 26400 ?ku lseh gSA ,d yEc o`Ùkh; 'kadq
dk oØ i`"Bh; {ks=kiQy] ftldk vk/kj vkSj Å¡pkbZ csyu
ds leku gS] fdruk gksxk\
(a) 1822.86 sq cm (b) 1801.86 sq cm
(c) 1886. 86 sq cm (d) 1902.86 sq cm

185. A cylindrical bucket, whose height is 27 cm
and base radius is 48 cm, is filled with sand.
When the bucket is emptied on the ground,
a conical heap of radius 54 cm is formed.
What is the height ( in cm ) of the heap ?

,d csyukdkj (flfyafMªdy ckYVh] ftldh ÅapkbZ 27
lseh vkSj vk/kj f=kT;k 48 lseh gS] dks jsr (lSaM) ls Hkjk
tkrk gSA tc ckYVh dks tehu ij [kkyh fd;k tkrk gS
vkSj 54 lseh f=kT;k dk ,d 'kadqdkj <sj cu tkrk gSA <sj
dh ÅapkbZ (lseh esa) fdruh gS\

SSC MTS 21 August 2019 (Evening)
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(a) 32 (b) 56

(c) 54 (d) 64

186. The height of a cylinder is 30 cm and the
diameter of its base is 10 cm. Two identical
conical holes each of radius 5 cm and 12
cm are drilled out. what is the surface
area(in cm2) of the remaining solid?

,d flysaMj dh ÅapkbZ 30 lseh gS vkSj blds vk/kj
dk O;kl 10 lseh gSA nks leku 'kaDokdkj fNnz izR;sd
f=kT;k 5 lseh vkSj 12 lseh rd fMªy dj ckgj fudky
fn;k tkrk gS 'ks"k Bksl dk i"̀Bh; {ks=kiQy D;k gS\

(CGL MAINS 15-10-2020)

(a) 230 p (b) 430 p
(c) 330 p (d) 120 p

187. From a solid cylinder wooden block of
height 18 cm and radius 7.5 cm, a conical
cavity of same radius and same height is
taken out. What is total surface area (in cm2)
of the remaining solid?

Å¡pkbZ 18 lseh vkSj f=kT;k 7-5 lseh ds ,d Bksl flysaMj
ydM+h ds CykWd ls] leku f=kT;k vkSj leku ÅapkbZ
dk ,d 'kaDokdkj xqgk ckgj fudkyk tkrk gSA 'ks"k
Bksl dk dqy {ks=kiQy (oxZ lseh esa) D;k gS\

(CGL MAINS 16-10-2020)

(a) 326.25 p (b) 416.25 p
(c) 472.5 p (d) 270 p

Prism
188. The volume of a prism is 288 cm³ and height

is 24 cm. The base area (in cm²) of the prism
is:

fizTe dk vk;ru 288 lseh3 vkSj ÅapkbZ 24 lseh gSA fizTe
ds vk/kj dk {ks=kiQy (lseh2 esa) gS%

SSC MTS 13 August 2019 (Morning)

(a) 10 (b) 12

(c) 15 (d) 14

189. The base of right prism is a trapezium
whose parallel sides are 11cm and 15cm
and the distance between them is 9 cm. If
the volume of the prism is 1731.6 cm3 ,
then the height (in cm) of the prism will
be :

,d yEc fizTe dk vk/kj leyac gS ftldh lekukarj
Hkqtk,a 11 lseh vkSj 15 lseh gSa rFkk muds chp dh
nwjh 9 lseh gSA ;fn fizTe dk vk;ru 1731-6 ?ku lseh
gS] rks fçTe dh Å¡pkbZ gksxh %

SSC CGL TIER II (11 September 2019)

(a) 15.6 (b) 15.2

(c) 14.8 (d) 14.2

190. The base of a right prism is a triangle with
sides 20 cm, 21 cm and 29 cm. If its
volume is 7560 cm3, then its lateral surface
area (in cm2 ) is :

,d yEc fçTe dk vk/kj ,d f=kHkqt gS ftldh Hkqtk,a
20 lseh] 21 lseh vkSj 29 lseh dh gSaA ;fn bldk
vk;ru 7560 ?ku lseh gS] rks bldk ik'oZ ì"B {ks=kiQy
(oxZ lseh esa) Kkr djsaA

SSC CGL TIER II (12 September 2019)

(a) 2484 (b) 2556

(c) 2520 (d) 2448

191. A right prism has height 18 cm and its
base is a triangle with sides 5cm, 8cm and
12 cm. What is the lateral surface area (in
cm2) ?

,d yEc fçTe dh ÅapkbZ 18 lseh gS rFkk bldk vkèkkj
,d f=kHkqt gS ftldh Hkqtk,a 5 lseh] 8 lseh vkSj 12
lseh dh gSaA ik'oZ i`"B {ks=kiQy (oxZ lseh esa) Kkr
djsaA

SSC CGL TIER II (13 September 2019)

(a) 450 (b) 468

(c) 432 (d) 486

192. The base of a solid prism of height 10 cm
is a square and its volume is 160 cm3, What
is its total surface area of the prism (in cm2 ) ?

Å¡pkbZ 10 lseh ds ,d Bksl fçTe dk vk/kj ,d oxZ
gS vkSj bldh vk;ru 160 ?ku lseh gS] rfçTe dh
dqy lrg dk {ks=kiQy (oxZ lseh esa) D;k gS\

(CGL MAINS 16-10-2020)

(a) 200 (b) 192

(c) 180 (d) 176

193. The base of a right prism is a square having
side of 15 cm. If its height is 8 cm, then
find the total surface area.

,d fçTe dk vk/kj ,d oxZ gksrk gS] tks 15 lseh dh
Hkqtk dk gSA ;fn bldh ÅapkbZ 8 lseh gS] rks dqy
lrg ds {ks=k dks Kkr djsaA

(CGL MAINS 18-10-2020)

(a) 920 cm2 (b) 930 cm2

(c) 900 cm2 (d) 940 cm2

194. A right prism has a square base with side of
base 4 cm and the height of prism is 9 cm.
The prism is cut in three parts of equal
heights by two planes parallel to its base.
What is the ratio of the volume of the top,
middle and the bottom part respectively?

,d fçTe dk ,d oxkZdkj vk/kj gS ftldh Hkqtk 4 lseh
gS vkSj fçTe dh ÅapkbZ 9 lseh gSA fçTe dks mlds vk/kj
ds lekukarj nks leryks }kjk leku Å¡pkbZ ds rhu Hkkxksa esa
dkVk tkrk gSA Øe'k% Åij] eè; vkSj uhps ds Hkkx ds
vk;ru dk vuqikr D;k gS\
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(a) 1:8:27 (b) 1:1:1

(c) 1:8:20 (d) 1:7:20

195. The base of a right prism is a regular

hexagon of side 5 cm. If its height is

12 3 cm, then its volume ( in cm3) is :

,d fçTe dk vk/kj 5 lseh dk ,d fu;fer "kV~Hkqt

gSA ;fn bldh Å¡pkbZ 12 3  lseh gS] rks bldh vk;ru

(?ku lseh esa) gS %
(CGL MAINS 15-10-2020)

(a) 900 (b) 1800

(c) 1350 (d) 675

196. A regular hexagonal base prism has height

8 cm and side of base is 4 cm. What is the

total surface are (in cm) of the prism?

,d fu;fer "kV~dks.kh; vk/kj fçTe dh ÅapkbZ 8 lseh
vkSj vk/kj dh Hkqtk 4 lseh gSA fçTe dh dqy lrg

(lseh esa) D;k gS\

(a) 54(3+ 3 ) (b) 36(3+ 3 )

(c) 48(4 + 3 ) (d) 24(4+ 3 )

197. A prism has a square base whose side is 8

cm. The height of prism is 80 cm. The prism

is cut into 10 identical parts by 9 cuts which

are parallel to base of prism. What is the

total surface area (in cm) of all the 10 parts

together?

,d fçTe dk ,d oxkZdkj vk/kj gS ftldh Hkqtk 8 lseh

gSA fçTe dh ÅapkbZ 80 lseh gSA fçTe dks 10 leku Hkkxksa
esa 9 dVksa ls dkVk tkrk gS tks fçTe ds vk/kj ds
lekukarj gksrs gSaA lHkh 10 Hkkxksa dk dqy i`"Bh; {ks=kiQy
(lseh esa) fdruk gS\

(a) 4260 (b) 2560

(c) 3840 (d) 3220

Pyramid

198. The volume of a right pyramid is 45 3

and its base is an equilateral triangle with

side 6 cm. What is the height (in cm) of

the pyramid ?

,d yEc fijkfeM dk vk;ru 45 3  ?ku lseh gS

vkSj bldk vk/kj ,d leckgq f=kHkqt gS ftldh Hkqtk

6 lseh gSA bl fijkfeM dh ÅapkbZ (lseh esa) Kkr djsaA
SSC CGL TIER II (11 September 2019)

(a) 15 (b) 18

(c) 12 (d) 20

199. The base of a right pyramid is an
equilateral triangle with side 8 cm, and the

height of pyramid is 24 3  cm. The volume

(in cm3) of the pyramid is :

,d y?kq fijfkeM dk vk/kj ,d leckgq f=kHkqt gS

ftldh Hkqtk 8 lseh dh gSA fijkfeM dh ÅapkbZ 24 3

lseh gSA bl fijkfeM dk vk;ru (?ku lseh esa) Kkr
djsaA

SSC CGL TIER II (12 September 2019)

(a) 1152 (b) 480

(c) 576 (d) 384

200. The base of a right pyramid is an equilateral

triangle with area 16 3 cm2. If the area of

one of its lateral faces is 30 cm2 , then its
height (in cm) is :

,d yEc fijkfeM dk vk/kj ,d leckgq f=kHkqt gS

ftldk {ks=kiQy 16 3  oxZ lseh gSA ;fn blds ,d

ik'oZ iQyd dk {ks=kiQy 30 oxZ lseh gS] rks bldh
Å¡pkbZ Kkr djsaA

SSC CGL TIER II (13 September 2019)

(a)
739

12
(b)

209

12

(c)
611

12
(d)

643

12

201. The base of a right pyramid is an
equilateral triangle with side 8 cm, and its

height is 30 3 . The volume(in cm3) of the

pyramid is :

,d fijkfeM dk vk/kj ,d leckgq f=kHkqt gS ftldh

Hkqtk 8 lseh gS] vkSj bldh Å¡pkbZ 30 3  gSA fijkfeM

dk vk;ru (lseh3 esa) gS%
(CGL MAINS 16-10-2020)

(a) 480 (b) 360 3

(c) 360 (d) 240 3

202. The base of a pyramid is an equilateral
triangle of side is 10 m. If the height of

the pyramid is 40 3  m, then the volume

of the pyramid is :

,d fijkfeM dk vk/kj 10 ehVj Hkqtk okyk ,d leckgq

f=kHkqt gSA ;fn fijkfeM dh Å¡pkbZ 40 3  gS] rks

fijkfeM dk vk;ru gS%
(CGL MAINS 18-10-2020)

(a) 800 m3 (b) 900 m3

(c) 1000 m3 (d) 1200 m3
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203. The base of a right pyramid is a square of
a side 10cm. If its height is 10 cm, then
the area (in cm2) of its lateral surface is :

,d fijkfeM dk vk/kj 10 lseh Hkqtk okyk oxZ gSA
;fn bldh Å¡pkbZ 10 lseh gS rks bldh ik'oZ lrg dk
{ks=kiQy (oxZ lseh esa) gS %

(a) 100 (b)  100 5 +1

(c) 50 5 (d) 100 5

204. A regular square pyramid has side of its base

20 cm and height 45 cm is melted and

recast into regular triangular pyramids of

equilateral base of side 10 cm and height

10 3 . what are the total numbers of regular

triangular pyramid?

,d fu;fer oxkZdkj fijkfeM ds vk/kj dh Hkqtk 20
lseh gS vkSj Å¡pkbZ 45 lseh dks fi?kyk;k tkrk gS vkSj 10
lseh vkSj Å¡pkbZ 10 3  ds leckgq vk/kj ds fu;fer

f=kdks.kh; fijkfeMksa esa iquxZfBr fd;k tkrk gSA fu;fer
f=kdks.kh; fijkfeM dh dqy la[;k D;k gS\
(a) 24 (c) 20

(c) 27  (d) 28

205. A regular triangular pyramid is cut by 2

planes which are parallel to its base. The

planes trisects the altitude of the pyramid.

Volume of top, middle and bottom part is

V1 V2 and V3 respectively. What is the value

of V1 :V2: V3?

,d fu;fer f=kHkqtkdkj fijkfeM dks 2 ryksa }kjk dkVk
tkrk gS tks blds vk/kj ds lekukarj gksrs gSaA lery
fijkfeM dh ÅapkbZ dks 3 cjkcj Hkkxksa esa dkVrs gSaA Åij]
eè; vkSj fupys fgLls dk vk;ru Øe'k% V1 V2 vkSj
V3 gSA V1 :V2: V3 dk eku D;k gS\
(a) 1:8:27 (b) 1:8:19

(c) 2:9:27 (d) 1:7:19

206. A regular pyramid has a square base. The
height of the pyramid is 22 cm and side of
its base 14 cm. Volume of pyramid is equal
to the volume of a sphere. What is the radius
(in cm) of the sphere?

,d fu;fer fijkfeM dk ,d oxkZdkj vk/kj gSA fijkfeM
dh ÅapkbZ 22 lseh vkSj vk/kj dh Hkqtk 14 lseh gSA
fijkfeM dk vk;ru ,d xksys ds vk;ru ds cjkcj gSA
xksys dh f=kT;k (lseh esa) D;k gS\

(a) 3 49 (b) 7

(c) 14 (d) 3 98

Tetrahedron
207. If the length of each side of a regular

tetrahedron is 18 cm, then the volume of
tetrahedron is:

;fn ,d fu;fer prq"iQyd dh izR;sd Hkqtk dh yackbZ
18 lseh gS] rks bl prq"iQyd dk vk;ru Kkr djsaA

(a) 486 2 cm³ (b) 324 2 cm³

(c) 324 3 cm³ (d) 284 3 cm³

208. If the side of a tetrahedron is8 3  cm then

find the volume and its height.

;fn ,d prq"iQyd dh Hkqtk8 3 gS] rks mldk vk;ru
vkSj mldh Å¡pkbZ Kkr dhft,A

(a) 128 6,8 2 (b) 64 6,4 2

(c) 32 6,4 2 (d) 32 6,8 2

209. The length of one side of a regular
tetrahedron is 8 cm. What is the ratio of
its surface area to its volume?

,d fu;fer prq"iQyd dh Hkqtk dh yackbZ 8 lseh gSA
blds i`"Bh; {ks=kiQy vkSj blds vk;ur ds chp D;k
vuqikr gS\

(a) 3 3 : 2 2 (b) 2 :12

(c) 3 : 8 (d) 1 : 1
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Answer Key

1.(a) 2.(b) 3.(d) 4.(b) 5.(b) 6.(b) 7.(a) 8.(c) 9.(d) 10.(a)

11.(c) 12.(d) 13.(b) 14.(c) 15.(a) 16.(a) 17.(d) 18.(b) 19.(b) 20.(a)

21.(c) 22.(a) 23.(c) 24.(a) 25.(d) 26.(c) 27.(a) 28.(a) 29.(c) 30.(b)

31.(c) 32.(d) 33.(c) 34.(c) 35.(c) 36.(a) 37.(b) 38.(b) 39.(a) 40.(a)

41.(d) 42.(a) 43.(d) 44.(c) 45.(b) 46.(a) 47.(a) 48.(a) 49.(a) 50.(b)

51.(c) 52.(b) 53.(b) 54.(c) 55.(d) 56.(a) 57.(a) 58.(b) 59.(d) 60.(a)

61.(b) 62.(b) 63.(a) 64.(a) 65.(c) 66.(d) 67.(a) 68.(d) 69.(d) 70.(d)

71.(c) 72.(b) 73.(d) 74.(c) 75.(c) 76.(a) 77.(c) 78.(b) 79.(b) 80.(d)

81.(b) 82.(b) 83.(c) 84.(b) 85.(b) 86.(b) 87.(c) 88.(b) 89.(b) 90.(b)

91.(a) 92.(a) 93.(b) 94.(a) 95.(d) 96.(c) 97.(c) 98.(b) 99.(c) 100.(d)

101.(d) 102.(c) 103.(a) 104.(d) 105.(b) 106.(d) 107.(b) 108.(a) 109.(d) 110.(c)

111.(a) 112.(a) 113.(d) 114.(d) 115.(a) 116.(b) 117.(b) 118.(a) 119.(b) 120.(a)

121.(c) 122.(b) 123.(d) 124.(a) 125.(a) 126.(a) 127.(d) 128.(b) 129.(a) 130.(d)

131.(d) 132.(d) 133.(a) 134.(d) 135.(c) 136.(b) 137.(a) 138.(b) 139.(b) 140.(d)

141.(c) 142.(a) 143.(a) 144.(a) 145.(b) 146.(d) 147.(c) 148.(b) 149.(d) 150.(a)

151.(d) 152.(a) 153.(b) 154.(b) 155.(c) 156.(d) 157.(b) 158.(c) 159.(b) 160.(c)

161.(b) 162.(b) 163.(c) 164.(c) 165.(a) 166.(a) 167.(b) 168.(c) 169.(d) 170.(b)

171.(d) 172.(c) 173.(b) 174.(a) 175.(d) 176.(b) 177.(c) 178.(a) 179.(a) 180.(b)

181.(c) 182.(c) 183.(a) 184.(a) 185.(d) 186.(b) 187.(c) 188.(b) 189.(c) 190.(c)

191.(a) 192.(b) 193.(b) 194.(b) 195.(c) 196.(c) 197.(c) 198.(a) 199.(d) 200.(c)

201.(a) 202.(c) 203.(d) 204.(a) 205.(d) 206.(b) 207.(a) 208.(a) 209.(a)
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